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PHYSICS

BOOKS - SELINA PHYSICS (ENGLISH)

SAMPLE PAPER 2

1. Define one newton.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Wh2i9Jo9jbpQ

2. Write the relation between S.I. unit and C.G.S. unit

of force.

° Watch Video Solution

3. Where does the position of centre of gravity lie for
(1) A circular lamina

(2) A triangular lamina

° Watch Video Solution

4. Where does the position of centre of gravity lie for

(1) A circular lamina


https://dl.doubtnut.com/l/_IdrB5d43ZH6u
https://dl.doubtnut.com/l/_geP9UXIewKfg
https://dl.doubtnut.com/l/_EhugPh737sm7

(2) A triangular lamina

° Watch Video Solution

5. A man opens a nut by applying a force of 150 N by
using a lever handle of length 0 - 4m. What should be
the length of the handle if he wants to open it by

applying a force of 60 N?

° Watch Video Solution

6. Name a machine which is used to :

(@) multiply force,


https://dl.doubtnut.com/l/_EhugPh737sm7
https://dl.doubtnut.com/l/_I7gtGmnK5V0m
https://dl.doubtnut.com/l/_s9IrtV62bgq9

(ii) multiply speed, and

(c) change the direction of force applied.

° Watch Video Solution

7.Name a machine which can be used to :

change the direction of force applied.

° Watch Video Solution

8. The diagram below shows a lever in use.

A F B

o l

Load = 18kgl



https://dl.doubtnut.com/l/_s9IrtV62bgq9
https://dl.doubtnut.com/l/_Utgh0mFCPWr7
https://dl.doubtnut.com/l/_Qxgdpk1ownhD

(@) To which class of lever does it belong ? Give one
example of this class.

(b) How will the mechanical advantage of lever
change if load is shifted towards the fulcrum without

changing it's dimensions.

o Watch Video Solution

9. The diagram below shows a lever in use.

Effort (E)
A ‘!‘E

' 3

AN

Load (L)
50 N



https://dl.doubtnut.com/l/_Qxgdpk1ownhD
https://dl.doubtnut.com/l/_TRg17YfhgGMR

If FA = 40 cm, AB = 60 cm, then find the mechanical

advantage of the lever.

° Watch Video Solution

10. A ball of mass 200 g falls from a height of 5 m.
What will be its kinetic energy when it just reaches

the ground ? (g = 9.8m3_2)

° Watch Video Solution

11. In the diagram below, PQ is a ray of light incident

on a rectangular glass block.


https://dl.doubtnut.com/l/_TRg17YfhgGMR
https://dl.doubtnut.com/l/_f6SWR5FdCLwI
https://dl.doubtnut.com/l/_nNGhfvX2o19a

Copy the diagram and complete the path of the ray
of light through the glass block. In your diagram,
mark the angle of incidence by letter 'i' and the angle

of emergence by the letter 'e'.

o Watch Video Solution



https://dl.doubtnut.com/l/_nNGhfvX2o19a

12. In the diagram below, PQ is a ray of light incident

on a rectangular glass block.

- .P =

How are the angles i and 'e' related to each other?

o Watch Video Solution



https://dl.doubtnut.com/l/_CPx8BO4Y8Smq

13. A ray of monochromatic light enters a liquid from

air as shown in the diagram given below:

Copy the diagram and show in the diagram the path
of the ray of light after it strikes the mirror and

reenters the medium of air.

o Watch Video Solution



https://dl.doubtnut.com/l/_GGF0FoSxSGYr

14. A ray of monochromatic light enters a liquid from

air as shown in the diagram given below:

Copy the diagram and show in the diagram the path
of the ray of light after it strikes the mirror and

reenters the medium of air.

o Watch Video Solution



https://dl.doubtnut.com/l/_yxpkeUEIBNg4

15. When does a ray of light falling on a lens pass

through it undeviated ?

° Watch Video Solution

16. Which lens can produce a real and inverted image

of an object ?

° Watch Video Solution

17. How is the refractive index of a medium related to
the real and apparent depths of an object in that

medium ?


https://dl.doubtnut.com/l/_XPwbpsg0KdpK
https://dl.doubtnut.com/l/_TZoE0mLRfOHt
https://dl.doubtnut.com/l/_AziJ3FNHmZmC

o Watch Video Solution

18. Which characteristic property of light is

responsible for the blue colour of the sky ?

° Watch Video Solution

19. When acoustic resonance takes place, a loud

sound is heard. Why does this happen ? Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_AziJ3FNHmZmC
https://dl.doubtnut.com/l/_MlbuAe198XI1
https://dl.doubtnut.com/l/_hnOMdr2AKUzw

20. Three musical instruments give out notes at the
frequencies listed below. Flute : 400 Hz, Guitar : 200
Hz, Trumpet : 500 Hz. Which one of these has the

highest pitch ?

o Watch Video Solution

21. With which of the following frequencies does a
tuning fork of 256 Hz resonate : 288 Hz, 314 Hz, 333

Hz, 512 Hz ?

° Watch Video Solution



https://dl.doubtnut.com/l/_MABzzWSB6FXX
https://dl.doubtnut.com/l/_sBqSVbcu6Fe3

22. Two bulbs are marked 100 W, 220 V and 60 W, 110

V. Calculate the ratio of their resistances.

° Watch Video Solution

23. What is the colour code for the insulation on the

earth wire ?

° Watch Video Solution

24. Write an expression for calculating electrical

power in terms of current and resistance.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_6e0ubcShsBVS
https://dl.doubtnut.com/l/_8ZqlwSAEBBNl
https://dl.doubtnut.com/l/_ofGMLRF3gsKk

25. Calculate the equivalent resistance between A and

B from the following diagram :

m

A5

B.3

C.8


https://dl.doubtnut.com/l/_ofGMLRF3gsKk
https://dl.doubtnut.com/l/_R5gvn5UXGM1n

D.4

Answer: 3

° Watch Video Solution

26. Write the difference between heat and

temperature .

° Watch Video Solution

27. Define Calorimetry.

o Watch Video Solution



https://dl.doubtnut.com/l/_R5gvn5UXGM1n
https://dl.doubtnut.com/l/_n47gO3KHdHOP
https://dl.doubtnut.com/l/_HxlpvCFpARZO

28. What is meant by Energy degradation ?

° Watch Video Solution

29. 200 g of hot water at 80° C' is added to 300 g of
cold water at 10° C. Calculate the final temperature
of the mixture of water. Consider the heat taken by
the container to be negligible. [specific heat capacity

of water is 4200 Jkg ~1°C ']

° Watch Video Solution



https://dl.doubtnut.com/l/_1zFxrMx3GVCk
https://dl.doubtnut.com/l/_L2UezJeXWvP8

30. Fill in the blanks in the following sentences with
appropriate words:
During the emission of a beta particle, the

number remains the same.

o Watch Video Solution

31. Fill in the blanks in the following sentences with
appropriate words:
The minimum amount of energy required to emit an

electron from a metal surface is called

o Watch Video Solution



https://dl.doubtnut.com/l/_hmmSGYIqNQPc
https://dl.doubtnut.com/l/_mbXQceBMTPC3
https://dl.doubtnut.com/l/_mwKWnB0MhQa5

32. A mixture of radioactive substances gives off
three types of radiations :
Name the radiation which travels with the speed of

light

o Watch Video Solution

33. A mixture of radioactive substances gives off
three types of radiations :
Name the radiation which has the highest ionizing

power.

o Watch Video Solution



https://dl.doubtnut.com/l/_mwKWnB0MhQa5
https://dl.doubtnut.com/l/_x3t8DPM8SmUl
https://dl.doubtnut.com/l/_1Ao5BlXlIz9F

34. Define 1 kgf.

o Watch Video Solution

35. How is it related to the S.I. unit of force ?

o Watch Video Solution

36. What are non-contact forces ?

° Watch Video Solution



https://dl.doubtnut.com/l/_1Ao5BlXlIz9F
https://dl.doubtnut.com/l/_fWFp3NTIuhiu
https://dl.doubtnut.com/l/_lGIUmF4PgJIz

37. How does the distance of separation between two
bodies affect the magnitude of the non-contact force

between them ?

o Watch Video Solution

38. A boy of mass 30 kg is sitting at a distance of 2 m
from the middle of a see-saw. Where should a boy of

mass 40 kg sit so as to balance the see-saw ?

° Watch Video Solution

39. What is meant by the term 'moment of force' ?


https://dl.doubtnut.com/l/_bQZj7Bf7zvVJ
https://dl.doubtnut.com/l/_lYgdWtNaBxmF
https://dl.doubtnut.com/l/_Kw84vgsbr9vS

o Watch Video Solution

40. If the moment of force is assigned a negative sign
then will the turning tendency of the force be

clockwise or anti-clockwise ?

° Watch Video Solution

41. A ball is placed on a compressed spring. When the

spring is released, the ball is observed to fly away.

r
|
|
|



https://dl.doubtnut.com/l/_Kw84vgsbr9vS
https://dl.doubtnut.com/l/_2LcTrZGEIj6B
https://dl.doubtnut.com/l/_qVs5Iu7lDlYs

What form of energy does the compressed spring

possess ?

° Watch Video Solution

42. A ball is placed on a compressed spring. When the

spring is released, the ball is observed to fly away.

Why does the ball fly away?

o Watch Video Solution



https://dl.doubtnut.com/l/_qVs5Iu7lDlYs
https://dl.doubtnut.com/l/_TbFNOF5kETUi

43. State the energy conversion taking place in a solar

cell.

° Watch Video Solution

44, What is a solar cell? State two uses of solar cells.
State whether solar cell produces a.c. or d.c. Give one

disadvantage of using a solar cell.

° Watch Video Solution

45, A body of mass 0.2 kg falls from a height of 10 m

to a height of 6 m above the ground. Find the loss in


https://dl.doubtnut.com/l/_nUu5G1Himpyg
https://dl.doubtnut.com/l/_oxv3SLo6fECe
https://dl.doubtnut.com/l/_XpEO8MFuaC0E

potential energy taking place in the body.

[g = 10ms _2]

° Watch Video Solution

46. Define the term refractive index of a medium in

terms of velocity of light.

° Watch Video Solution

47. A ray of light moves from a rare medium to a
dense medium as shown in the diagram below. Write

down the number of the ray which represents the


https://dl.doubtnut.com/l/_XpEO8MFuaC0E
https://dl.doubtnut.com/l/_CQyKJwmVhJTJ
https://dl.doubtnut.com/l/_0RyGNWZKgZee

partially reflected ray.

miedium

Ray 1

o Watch Video Solution

48. You are provided with a printed piece of paper.
Using this paper how will you differentiate between a

convex lens and a concave lens ?

° Watch Video Solution



https://dl.doubtnut.com/l/_0RyGNWZKgZee
https://dl.doubtnut.com/l/_HQvH3DmseCAA

49, A ray of light incident at an angle of incidence 'I'
passes through an equilateral glass prism such that
the refracted ray inside the prism is parallel to its
base and emerges from the prism at an angle of
emergence 'e'.

How is the angle of emergence 'e' related to the

angle of incidence 'i' ?

o Watch Video Solution

50. A ray of light incident at an angle of incidence I

passes through an equilateral glass prism such that


https://dl.doubtnut.com/l/_HQvH3DmseCAA
https://dl.doubtnut.com/l/_Osvwqb8LKOB0
https://dl.doubtnut.com/l/_dAChXUVE4MoS

the refracted ray inside the prism is parallel to its
base and emerges from the prism at an angle of
emergence 'e'.

What can you say about the value of the angle of

deviation in such a situation ?

o Watch Video Solution

51. What do you mean by dispersion of light?

° Watch Video Solution

52. In the atmosphere which colour of light gets

scattered the least ?


https://dl.doubtnut.com/l/_dAChXUVE4MoS
https://dl.doubtnut.com/l/_C2NvEZwHzMBQ
https://dl.doubtnut.com/l/_MUCDwr5jZZsN

o Watch Video Solution

53. Which characteristics of sound will change if there
is a change in

its amplitude

o Watch Video Solution

54. Which characteristics of sound will change if
there is a change in

its waveform.

° Watch Video Solution



https://dl.doubtnut.com/l/_MUCDwr5jZZsN
https://dl.doubtnut.com/l/_Bt7VnrALyBVA
https://dl.doubtnut.com/l/_swy94pxhwoQ9

55. Name one factor which affects the frequency of

sound emitted due to vibrations in an air column.

° Watch Video Solution

56. Name the unit used for measuring the sound

level.

° Watch Video Solution

57. An electrical appliance is rated at 1000 KVA, 220 V.

If the appliance is operated for 2 hours, calculate the


https://dl.doubtnut.com/l/_pK3FbgJLTwOL
https://dl.doubtnut.com/l/_dWIM35ClVDK6
https://dl.doubtnut.com/l/_iqe5dNZQ3mh6

energy consumed by the appliance in :

kWh

° Watch Video Solution

58. An electrical appliance is rated at 1000 KVA, 220 V.
If the appliance is operated for 2 hours, calculate the
energy consumed by the appliance in :

joule

° Watch Video Solution

59. Calculate the equivalent resistance between P and

Q from the following diagram:


https://dl.doubtnut.com/l/_iqe5dNZQ3mh6
https://dl.doubtnut.com/l/_X1G5YuE03M8q
https://dl.doubtnut.com/l/_VSQIzdcF7935

o Watch Video Solution

60. What is an a.c. generator or Dynamo used for ?

° Watch Video Solution

61. Name the principle on which it works.

° Watch Video Solution



https://dl.doubtnut.com/l/_VSQIzdcF7935
https://dl.doubtnut.com/l/_aY8XjQJ2a1lN
https://dl.doubtnut.com/l/_S5GKBxEK23qC
https://dl.doubtnut.com/l/_70JRho2Os0Wy

62. Differentiate between heat capacity and specific

heat capacity.

o Watch Video Solution

63. A hot solid of mass 60 g at 100° C'is placed in 150
g of water at 20°C. The final steady temperature
recorded is 25° C. Calculate the specific heat capacity

of the solid. [Specific heat capacity of water = 4200

kg—loc—l]

o Watch Video Solution



https://dl.doubtnut.com/l/_70JRho2Os0Wy
https://dl.doubtnut.com/l/_KhdmDUApdAx8

64. What is the value of the speed of gamma

radiations in air or vacuum ?

° Watch Video Solution

65. Name a material which exhibits fluorescence when

cathode rays fall on it.

° Watch Video Solution

66. Give any two important sources of background

radiation.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_5aW3beRLuvBW
https://dl.doubtnut.com/l/_tyIoXakOpV0K
https://dl.doubtnut.com/l/_VYd7q8QBBkvc

67. Give any two effects of a force on a non-rigid body.

° Watch Video Solution

68. One end of a spring is kept fixed while the other

end is stretched by a force as shown in the diagram.

F Fixed
end

Copy the diagram and mark on it the direction of the

restoring force.

o Watch Video Solution



https://dl.doubtnut.com/l/_VYd7q8QBBkvc
https://dl.doubtnut.com/l/_PW49tkdtUAvj
https://dl.doubtnut.com/l/_Jn7MeoQ7lPa4

69. One end of a spring is kept fixed while the other

end is stretched by a force as shown in the diagram.

F Fixed
end

Name one instrument which works on the above

principle.

o Watch Video Solution

70. Where is the centre of gravity of a uniform ring

situated ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QL9VqnGOsCIk
https://dl.doubtnut.com/l/_S8AJS0pUYBRh
https://dl.doubtnut.com/l/_LfVlbPXSrqCj

71. The position of the centre of gravity of a body
remains unchanged even when the body is deformed".

State whether the statement is true or false.

o Watch Video Solution

72. A force is applied on a body of mass 20 kg moving
with a velocity of 40ms ~ . The body attains a velocity
of 50ms 1! in 2 second. Calculate the work done by

the body.

o Watch Video Solution



https://dl.doubtnut.com/l/_LfVlbPXSrqCj
https://dl.doubtnut.com/l/_3MK5YaeMzZ9t

73. Name the pulley which has no gain in mechanical

advantage. Explain, why is such a pulley then used ?

° Watch Video Solution

74. A type of single pulley is very often used as a
machine even though it does not give any gain in
mechanical advantage.

For what purpose is such a pulley used ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ExPRZ1BzJdPf
https://dl.doubtnut.com/l/_0bwQpi2bV94A

75. What do you understand by an ideal machine ?

How does it differ from a practical machine ?

° Watch Video Solution

76. When does a machine act as (a) a force multiplier,
(b) a speed multiplier. Can a machine act as a force

multiplier and a speed multiplier simultaneously ?

° Watch Video Solution

77. A girl of mass 35 kg climbs up from the first floor

of a building at a height 4 m above the ground to the


https://dl.doubtnut.com/l/_v2Lr5dSbf6ij
https://dl.doubtnut.com/l/_57SWXfFHQuvv
https://dl.doubtnut.com/l/_hHfuiMQc5zdK

third floor at a height 12 m above the ground. What
will be the increase in her gravitational potential

energy? [g = 10ms 2]

o Watch Video Solution

78. Which class of lever found in the human body is
being used by a boy:

when he holds a load on the palm of his hand.

° Watch Video Solution

79. What type of lever is formed by a human body

while (a) raising a load on the palm, and (b) raising


https://dl.doubtnut.com/l/_hHfuiMQc5zdK
https://dl.doubtnut.com/l/_zfOGDckEqjHK
https://dl.doubtnut.com/l/_B3gt2X9Pkfvh

the weight of body on toes ?

° Watch Video Solution

80. A ray of light is moving from a rarer medium to a
denser medium and strikes a plane mirror placed at
90° to the direction of the ray as shown in the

diagram.

e ————

Rarer medium
Denser medium

Mirror

Copy the diagram and mark arrows to show the path

of the ray of light after it is reflected from the mirror.

| o |


https://dl.doubtnut.com/l/_B3gt2X9Pkfvh
https://dl.doubtnut.com/l/_saawgDvODqzw

l & Watch Video Solution J

81. A ray of light is moving from a rarer medium to a
denser medium and strikes a plane mirror placed at
90° to the direction of the ray as shown in the

diagram.

-

Name the principle you have used to mark the arrows

to show the direction of the ray.

. l


https://dl.doubtnut.com/l/_saawgDvODqzw
https://dl.doubtnut.com/l/_h5XV9o36t3SQ

| & Vvald vidco S501utior ]

82. The refractive index of glass with respect to air is
1.5. What is the value of the refractive index of air

with respect to glass?

o Watch Video Solution

83. A ray of light is incident as a normal ray on the
surface of separation of two different mediums. What

is the value of the angle of incidence in this case ?

o Watch Video Solution



https://dl.doubtnut.com/l/_h5XV9o36t3SQ
https://dl.doubtnut.com/l/_5PvCvcsz4wZ7
https://dl.doubtnut.com/l/_abLck1PL6ezP
https://dl.doubtnut.com/l/_CpMmyvoGJVpw

84. A bucket kept under a running tap is getting filled
with water. A person sitting at a distance is able to
get an idea when the bucket is about to be filled.

What change takes place in the sound to give this

idea ?

° Watch Video Solution

85. A bucket kept under a running tap is getting filled
with water. A person sitting at a distance is able to
get an idea when the bucket is about to be filled.

What causes the change in the sound ?

o Watch Video Solution



https://dl.doubtnut.com/l/_CpMmyvoGJVpw
https://dl.doubtnut.com/l/_1zLJqE7seLpj

86. A sound made on the surface of a lake takes 3 s to
reach a boatman.
How much time will it take to reach a diver inside the

water at the same depth ?

Velocity of sound in air = 330ms !

Velocity of sound in water = 1450m.s !

o Watch Video Solution

87. Calculate the equivalent resistance between the

points A and B for the following combination of


https://dl.doubtnut.com/l/_175T01GJpjzk
https://dl.doubtnut.com/l/_vLYHIK6iy3DF

resistors :

.

410} ]
"N
4102 402
50 40 6102
A AAAAAAA swrann— B
20 20
L 2Q )

o Watch Video Solution

88. You have been provided with a solenoid AB.

What is the polarity at end A ?

R —— = = . g
WEREEL

—_—th
——



https://dl.doubtnut.com/l/_vLYHIK6iy3DF
https://dl.doubtnut.com/l/_PMSylq15diH2

o Watch Video Solution

89. You have been provided with a solenoid AB.
Give one advantage of an electromagnet over a

permanent magnet.

A B

o Watch Video Solution



https://dl.doubtnut.com/l/_PMSylq15diH2
https://dl.doubtnut.com/l/_r8KnHiDhdXzq

90. Name the device used to protect the electric

circuits from overloading and short circuits.

° Watch Video Solution

91. Name the device used to protect the electric
circuits from overloading and short circuits. On what

effect of electricity does the above device work ?

° Watch Video Solution

92. Define heat capacity and state its Sl unit.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_gAtED8J1kH0N
https://dl.doubtnut.com/l/_BcRp1ZMMywL9
https://dl.doubtnut.com/l/_yA05qGz1hvlU

93. What do you mean by global warming?

° Watch Video Solution

94. How much heat energy is released when 5 g of
water at 20° C changes to ice at 0° C?
[Specific heat capacity of water =4.2Jg " 1°C 1

Specific latent heat of fusion of ice = 336J¢g _1]

° Watch Video Solution



https://dl.doubtnut.com/l/_yA05qGz1hvlU
https://dl.doubtnut.com/l/_61jwMfhm4VN6
https://dl.doubtnut.com/l/_bE1JdYD1YVqV

95. Which of the radioactive radiations :

can cause severe genetical disorders.

° Watch Video Solution

96. Which of the radioactive radiations :

are deflected by an electric field ?

° Watch Video Solution

97. Aradioactive nucleus undergoes a series of decays

according to the sequence

B a a
X—)Xl >X2 >X3.


https://dl.doubtnut.com/l/_zpbWb4YSJk9I
https://dl.doubtnut.com/l/_RiWWG3NIcFjn
https://dl.doubtnut.com/l/_TH2sQCbMzcmV

f the mass number and atomic number of X3 are 172
and 69 respectively. what is the mass numberand

atomic number of X ?

o Watch Video Solution

98. A force is applied on (i) a non-rigid body and (ii) a
rigid body. How does the effect of the force differ in

the above two cases ?

° Watch Video Solution

99. A ball is hanging by string from the ceiling of the

roof. Draw a neat labelled diagram showing the


https://dl.doubtnut.com/l/_TH2sQCbMzcmV
https://dl.doubtnut.com/l/_TgsZUVFLbbcV
https://dl.doubtnut.com/l/_XMLQHghXZrZk

forces acting on the ball and the string.

° Watch Video Solution

100. The weight of a body at the centre of the earth is

o Watch Video Solution

101. What is the principle of an ideal machine ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XMLQHghXZrZk
https://dl.doubtnut.com/l/_e435d0a28l9J
https://dl.doubtnut.com/l/_o7Nn8k39PEMS

102. s it possible to have an accelerated motion with

a constant speed? Name such type of motion.

° Watch Video Solution

103. When does a force do work ?

° Watch Video Solution

104. What is the work done by the moon when it

revolves around the earth?

o Watch Video Solution



https://dl.doubtnut.com/l/_QfC6vNfRI8cy
https://dl.doubtnut.com/l/_JoHa7zQnRXrQ
https://dl.doubtnut.com/l/_QvbWIn1rfieQ

105. Calculate the change in the Kinetic energy of a
moving body if its velocity is reduced to 1/3rd of the

initial velocity.

o Watch Video Solution

106. State the energy changes in the following cases
while in use:

(a) loudspeaker (b) a steam engine

(c ) microphone (d) washing machine

(e) a glowing electric bulb (f) burning coal

(g) a solar cell (h) bio-gas burner

(i) an electric cell in a circuit (j) a petrol engine of a


https://dl.doubtnut.com/l/_UC3jsdRz2CTR
https://dl.doubtnut.com/l/_TeglFtgqitWR

running car (k) an electric iron (I) a ceiling fan

(m) an electromagnet

° Watch Video Solution

107. State the energy changes in the following cases
while in use:

(a) loudspeaker (b) a steam engine

(c ) microphone (d) washing machine

(e) a glowing electric bulb (f) burning coal

(g) a solar cell (h) bio-gas burner

(i) an electric cell in a circuit (j) a petrol engine of a
running car (k) an electric iron (I) a ceiling fan

(m) an electromagnet



https://dl.doubtnut.com/l/_TeglFtgqitWR
https://dl.doubtnut.com/l/_jbeDdGMAHwpD

l ° Watch Video Solution

108. What is nuclear energy ?

o Watch Video Solution

109. What is nuclear energy? Name the process used

for producing electricity using the nuclear energy

o Watch Video Solution

110. State one important advantage and disadvantage

each of using nuclear energy for producing electricity.


https://dl.doubtnut.com/l/_jbeDdGMAHwpD
https://dl.doubtnut.com/l/_NWyB0DclQ61u
https://dl.doubtnut.com/l/_0SueMkkfI61c
https://dl.doubtnut.com/l/_ke49avEqbLkd

o Watch Video Solution

111. The conversion of part of the energy into an

undesirable form is called

o Watch Video Solution

112. For a given height h, the length 1 of the

inclined plane, lesser will be the effort required.

° Watch Video Solution



https://dl.doubtnut.com/l/_ke49avEqbLkd
https://dl.doubtnut.com/l/_gPq6lHPrbM6z
https://dl.doubtnut.com/l/_CZnlW9I1Q1c3

113. Draw the diagram given below and clearly show

the path taken by the emergent ray:

o Watch Video Solution

114. What is consumed using different electrical

appliances, for which electricity bills are paid ?



https://dl.doubtnut.com/l/_7I7cXB8ROVb3
https://dl.doubtnut.com/l/_l0Pagqcw8Oa9

‘ o Watch Video Solution

115. Name a common device that uses electro

magnets.

o Watch Video Solution

116. A ray of light passes from water to air, How does

the speed of light change ?

o Watch Video Solution



https://dl.doubtnut.com/l/_l0Pagqcw8Oa9
https://dl.doubtnut.com/l/_siWeNB7dit2x
https://dl.doubtnut.com/l/_01gHHXWS3JUk

117. Which colour of light travels fastest in any

medium except air ?

° Watch Video Solution

118. Name the factors affecting the critical angle for

the pair of media.

° Watch Video Solution

119. Name a prism required for obtaining a spectrum

of ultraviolet light.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_7sg9NWwOvUzd
https://dl.doubtnut.com/l/_eEck3z3q9XGp
https://dl.doubtnut.com/l/_nZrPI9aXVfZL

120. Name the radiations which can be detected by a

thermopile.

° Watch Video Solution

121. Why is the colour red used as a sign of danger ?

o Watch Video Solution

122. What are mechanical waves ?

o Watch Video Solution



https://dl.doubtnut.com/l/_nZrPI9aXVfZL
https://dl.doubtnut.com/l/_sRwL6WcE1QNN
https://dl.doubtnut.com/l/_9Q2okE04CIyL
https://dl.doubtnut.com/l/_4w4ZWYx7DAWt

123. Name one property of waves that do not change

when the wave passes from one medium to another.

o Watch Video Solution

124. Find the equivalent resistance between points A

and B
= in a0 -
B FY P T ——— A
‘
| A #?ml;.!; ,%:E.E— —B
3£} a1 |
L e ——

° Watch Video Solution



https://dl.doubtnut.com/l/_4w4ZWYx7DAWt
https://dl.doubtnut.com/l/_LN1pLplnXO5U
https://dl.doubtnut.com/l/_JcCtw9ioSw4Y
https://dl.doubtnut.com/l/_9VdveA8LJ1J3

125. 50 g of metal piece at 27° C requires 2400 ) of
heat energy so as to attain a temperature of 327° C.

Calculate the specific heat capacity of the metal.

o Watch Video Solution

126. An electrons emitter must have work

function and melting point.

° Watch Video Solution

127. Rishi is surprised when he sees water boiling at

115°C' in a container. Give reasons as to why water


https://dl.doubtnut.com/l/_9VdveA8LJ1J3
https://dl.doubtnut.com/l/_ZiidfpUG1sY7
https://dl.doubtnut.com/l/_DyYgsz5lzNN2

can boil at the above temperature.

° Watch Video Solution

128. Why does a current carrying, freely suspended

solenoid rest along a particular direction ?

o Watch Video Solution

129. A freely suspended magnet rests in :

o Watch Video Solution



https://dl.doubtnut.com/l/_DyYgsz5lzNN2
https://dl.doubtnut.com/l/_l0iKGsfhhIaH
https://dl.doubtnut.com/l/_n4nU6K4ySDZh

130. Find the equivalent resistance between points A

and B.
213
A
1252 4102
B
\ 52 /

o Watch Video Solution

131. Give two similarities between an A.C. generator

and a D.C. motor.

o Watch Video Solution



https://dl.doubtnut.com/l/_hVXDHZGHM2kO
https://dl.doubtnut.com/l/_vJ2QkItQQptn
https://dl.doubtnut.com/l/_yJcpCLJqWeqI

132. Why is a cathode ray tube evacuated to a low

pressure ?

o Watch Video Solution

133. What happens if the negative potential is

changed on a grid ?

o Watch Video Solution

134. A ball is hanging by string from the ceiling of the
roof. Draw a neat labelled diagram showing the

forces acting on the ball and the string.


https://dl.doubtnut.com/l/_yJcpCLJqWeqI
https://dl.doubtnut.com/l/_1Ar45vRWKwFX
https://dl.doubtnut.com/l/_3JGdaBlCiP34

o Watch Video Solution

135. The distance between two bodies is doubled.
How is the magnitude of gravitational force between

them affected ?

o Watch Video Solution

136. A jack screw is provided with a long arm. Explain

why?

° Watch Video Solution



https://dl.doubtnut.com/l/_3JGdaBlCiP34
https://dl.doubtnut.com/l/_9pIg3tzACEYa
https://dl.doubtnut.com/l/_jRooIgDbiO9r

137. If the power of a motor be 100 kW, at what speed

can it raise a load of 50,000 N ?

° Watch Video Solution

138. Which class of lever will always have M. A. > 1

and why ?

° Watch Video Solution

139. Define heat capacity and state its Sl unit.

o Watch Video Solution



https://dl.doubtnut.com/l/_d9VTXWI4RPuo
https://dl.doubtnut.com/l/_jEYnR6yzjgeE
https://dl.doubtnut.com/l/_JH8rlQ8eFJkN

140. Why is the base of a cooking pan made thick and

heavy ?

° Watch Video Solution

141. A mass of 50 g of a certain metal at 150°C is
immersed in 100 g of water at 11°C. The final
temperature is 20°C. Calculate the specific heat
capacity of the metal. Assume that the specific heat

capacity of wateris 42 g 'K 1

° Watch Video Solution



https://dl.doubtnut.com/l/_f522oeivBwFF
https://dl.doubtnut.com/l/_3aUZkOLOiQ3I

142. How is the refractive index of a medium related
to the real and apparent depths of an object in that

medium ?

o Watch Video Solution

143. Define the term refractive index of a medium in

terms of velocity of light.

° Watch Video Solution

144. State the conditions required for total internal

reflection of light to take place.


https://dl.doubtnut.com/l/_JSXlmbRLmQ5o
https://dl.doubtnut.com/l/_HZABOswXzjgU
https://dl.doubtnut.com/l/_Hb39J3pBag1s

o Watch Video Solution

145. Draw a ray diagram to show the refraction of a
monochromatic ray through a prism when it suffers
minimum deviation. How is the angle of emergence

related to the angle of incidence in the position.

o Watch Video Solution

146. The human ear can detect continuous sounds in
the frequency range from 20 Hz to 20000 Hz.
1

Assuming that the speed of sound in air is 330 ms ™

for all frequencies, calculate the wavelengths


https://dl.doubtnut.com/l/_Hb39J3pBag1s
https://dl.doubtnut.com/l/_WIWcVZMBMZRG
https://dl.doubtnut.com/l/_oi4m6gF6tpGm

corresponding to the given extreme frequencies of

the audible range.

° Watch Video Solution

147. An enemy plane is at a distance of 300 km from a
radar. In how much time the radar will be able to

detect the plane ? Take velocity of radio waves as

3 x 108ms L.

° Watch Video Solution

148. How is the frequency of a stretched string

related to:


https://dl.doubtnut.com/l/_oi4m6gF6tpGm
https://dl.doubtnut.com/l/_Cv4bTglbuNsn
https://dl.doubtnut.com/l/_B3hFlpNq1n9n

Its length?

° Watch Video Solution

149. How is the frequency of a stretched string
related to:

Its tension?

° Watch Video Solution

150. Define the term "specific resistance and state its

S.l. unit.

o Watch Video Solution



https://dl.doubtnut.com/l/_B3hFlpNq1n9n
https://dl.doubtnut.com/l/_a90URr0Knhi7
https://dl.doubtnut.com/l/_Zssax5jbFNTl

151. An electric bulb of resistance 500€2, draws a
current of 0.4 A. Calculate the power of the bulb and

the potential difference at its end.

° Watch Video Solution

152. Name any two types of energy losses in a
transformer. State how any one of them can be

minimized.

° Watch Video Solution



https://dl.doubtnut.com/l/_dtcbFjGumpjD
https://dl.doubtnut.com/l/_aFgYdpoiQwEu

153. State two characteristics of a good thermion

emitter.

° Watch Video Solution

154. State two factors upon which the rate of

emission of thermions depends.

° Watch Video Solution

155. When does the nucleus of an atom tend to be

radioactive ?

[ o Watch Video Solution


https://dl.doubtnut.com/l/_nrglGfpeIIrx
https://dl.doubtnut.com/l/_zrCbgifm1ARD
https://dl.doubtnut.com/l/_HzQQooRXPYqp

156. State and define the S.I. unit of power.

° Watch Video Solution

157. How is the unit horse power related to the S..

unit of power ?

o Watch Video Solution

158. State the energy changes in the following cases

while in use:


https://dl.doubtnut.com/l/_HzQQooRXPYqp
https://dl.doubtnut.com/l/_6gszwjUr5TYx
https://dl.doubtnut.com/l/_4GY6fsFlVhcs
https://dl.doubtnut.com/l/_WuEOZYA9H20i

An electric iron

° Watch Video Solution

159. State the energy changes in the following cases
while in use:

A ceiling fan

° Watch Video Solution



https://dl.doubtnut.com/l/_WuEOZYA9H20i
https://dl.doubtnut.com/l/_jYRAQXZSkFEA

160. The diagram below shows a lever in use:

i

i 4

{ L A

To which class of levers does it belong ?

° Watch Video Solution

161. The diagram below shows a lever in use :

B

1 F
{ L A

Without changing the dimensions of the lever, if the


https://dl.doubtnut.com/l/_S9s2cM3Vuhs5
https://dl.doubtnut.com/l/_tCFyQ1y8gRry

load is shifted towards the fulcrum what happens to

the mechanical advantage of the lever ?

° Watch Video Solution

162. Why is the ratio of the velocities of light of

wavelengths 4000 A and 8000 A in vacuum 1: 1?

° Watch Video Solution

163. (a) Write the approximate wavelength for (i) blue,
and (ii) red light

(b) The wavelength of violet and red light are 4000A


https://dl.doubtnut.com/l/_tCFyQ1y8gRry
https://dl.doubtnut.com/l/_ChjJQOxwLMV3
https://dl.doubtnut.com/l/_4l4YpprO7orJ

and 8000A respectively. Which of the two has higher

frequency?

° Watch Video Solution

164. Why is the motion of a body moving with a
constant speed around a circular path said to be

accelerated ?

° Watch Video Solution

165. Name the unit of physical quantity obtained by

the formula g

(%

where K : kinetic energy, v : linear velocity.


https://dl.doubtnut.com/l/_4l4YpprO7orJ
https://dl.doubtnut.com/l/_BGSnpEBXID33
https://dl.doubtnut.com/l/_bigLQGtD7sNx

o Watch Video Solution

166. The power of a lens is -5 D.

Find its focal length.

° Watch Video Solution

167. The power of a lens is -5 D.

Name the type of lens.

° Watch Video Solution



https://dl.doubtnut.com/l/_bigLQGtD7sNx
https://dl.doubtnut.com/l/_cSnZieNblzDV
https://dl.doubtnut.com/l/_TPIBguZkpAbz

168. State the position of the object in front of a
converging lens if :

It produces a real and same size image of the object.

° Watch Video Solution

169. State the position of the object in front of a
converging lens if :

It is used as a magnifying lens.

° Watch Video Solution



https://dl.doubtnut.com/l/_NRTbxEMRpDI1
https://dl.doubtnut.com/l/_znurjK1bfreu

170. (i) What is the relation between critical angle and
refractive index of a material ?
(ii) Does critical angle depend on the color of light ?

Explain.

o Watch Video Solution

171. Which colour of light has a higher critical angle?

Red light or Green light.

° Watch Video Solution



https://dl.doubtnut.com/l/_KTrvavGj3aKV
https://dl.doubtnut.com/l/_T8LDTQ2LWt6b

172. (i) Define scattering.

(ii) The smoke from a fire looks white.

Which of the following statements is true ?

(1) Molecules of the smoke are bigger than the
wavelength of light.

(2) Molecules of the smoke are smaller than the

wavelength of light.

o Watch Video Solution

173. The following diagram shows a 60°,30°, 90°
glass prism of critical angle 42°. Copy the diagram

and complete the path of incident ray AB emerging


https://dl.doubtnut.com/l/_T1uVTonNLQuu
https://dl.doubtnut.com/l/_U8NpplhpVDjG

out of the prism marking the angle of incidence on

each surface.

(TR | |

o Watch Video Solution

174. Displacement distance graph of two sound waves

A and B, travelling in a medium, are as shown in the


https://dl.doubtnut.com/l/_U8NpplhpVDjG
https://dl.doubtnut.com/l/_29nSSwq8t7uX

diagram below:

Displacemnent (cm)

Study the two sound waves and compare their :

Amplitudes

° Watch Video Solution

175. Displacement distance graph of two sound waves
A and B, travelling in a medium, are as shown in the

diagram below:


https://dl.doubtnut.com/l/_29nSSwq8t7uX
https://dl.doubtnut.com/l/_XdgYamEUQhBA

'F_Eﬁpmlm} )

Study the two sound waves and compare their :

Wavelengths

° Watch Video Solution

176. You have three resistors of values
2Q2, 3Q2 and 5€2. How will you join them so that the
total resistance is more than 72?

Draw a diagram for the arrangement.

[ ° Wiak~hh \tAAA CAlLiikiAan



https://dl.doubtnut.com/l/_XdgYamEUQhBA
https://dl.doubtnut.com/l/_Ws6JtbOexEJu
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177. You have three resistors of values
202, 3Q2 and 5€2. How will you join them so that the
total resistance is more than 7Q2?

Calculate the equivalent resistance.

o Watch Video Solution

178. What do you understand by the term nuclear

fusion ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ws6JtbOexEJu
https://dl.doubtnut.com/l/_ROmtegioj6kg
https://dl.doubtnut.com/l/_FBAv651CZyHA
https://dl.doubtnut.com/l/_8uRSPftjpiFL

179. Nuclear power plants use the nuclear fission
reaction to produce electricity. What is the advantage

of producing electricity by fusion reaction ?

o Watch Video Solution

180. What do you understand by free vibrations of a

body?

o Watch Video Solution

181. Why does the amplitude of a vibrating body

continuously decrease during damped vibrations ?

& l


https://dl.doubtnut.com/l/_8uRSPftjpiFL
https://dl.doubtnut.com/l/_R0hXtUVKcOwJ
https://dl.doubtnut.com/l/_5n2LCPqbXYxi

| ¥ Vvvatcn Video oolution ]

182. How is the e.m.f. across primary and secondary
coils of a transformer related with the number of

turns of coil in them?

o Watch Video Solution

183. On which type of current do transformers work ?

° Watch Video Solution



https://dl.doubtnut.com/l/_5n2LCPqbXYxi
https://dl.doubtnut.com/l/_Os05QMi6OxVx
https://dl.doubtnut.com/l/_ijngvMc1ZcC6

184. How can a temperature in degree Celsius be

converted into S.I. unit of temperature ?

° Watch Video Solution

185. A liquid X has the maximum specific heat capacity
and is used as a coolant in car radiators. Name the

liquid X.

° Watch Video Solution

186. A solid metal weighing 150 g melts at its melting

point of 800° C' by providing heat at the rate of 100


https://dl.doubtnut.com/l/_dtv5bO5Nnysy
https://dl.doubtnut.com/l/_6i6PSq6GsUD7
https://dl.doubtnut.com/l/_RMWsjC4uxVSm

W. The time taken for it to completely melt at the
same temperature is 4 min. What is the specific latent

heat of fusion of the metal ?

° Watch Video Solution

187. Identify the following wires used in a household
circuit :

The wire is also called as the phase wire.

° Watch Video Solution

188. Identify the following wires used in a household

circuit :


https://dl.doubtnut.com/l/_RMWsjC4uxVSm
https://dl.doubtnut.com/l/_7sxtzltRpi32
https://dl.doubtnut.com/l/_KLVcMbH69uO4

The wire is connected to the top terminal of a three

pin socket.

° Watch Video Solution

189. Two atoms are said to be isobars if

o Watch Video Solution

190. Give one example of isobars.

o Watch Video Solution



https://dl.doubtnut.com/l/_KLVcMbH69uO4
https://dl.doubtnut.com/l/_bneWgPaaApp8
https://dl.doubtnut.com/l/_9c5yrhE6gkVH

191. State two advantages of an electromagnet over a

permanent magnet.

° Watch Video Solution

192. Define moment of force and its unit.

° Watch Video Solution

193. Write the relationship between the SI and CGS

unit of moment of force.

o Watch Video Solution



https://dl.doubtnut.com/l/_Vzzc9VwLJdcK
https://dl.doubtnut.com/l/_Gu09Nv4l7cck
https://dl.doubtnut.com/l/_VFbfcogSeDqb

194. Define kilowatt hour.How is it reltated to joule?

° Watch Video Solution

195. A satellite revolves around a planet in a circular
orbit. What is the work done by the satellite at any

instant ? Give a reason.

° Watch Video Solution

196. Identify the class of the lever shown in the

diagram below:


https://dl.doubtnut.com/l/_pKXpljy96Tx2
https://dl.doubtnut.com/l/_23axeNJyUKiW
https://dl.doubtnut.com/l/_5MgxqsOx0KjQ

AL

o Watch Video Solution

197. How is it possible to increase the M. A. of the

above lever without increasing its length ?

o Watch Video Solution

198. Give one example of each when :

Chemical energy changes into electrical energy.

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_5MgxqsOx0KjQ
https://dl.doubtnut.com/l/_uSLWySFXFL5e
https://dl.doubtnut.com/l/_sbe281mGV0LD

199. Give one example of each when :

Electrical energy changes into sound energy.

o Watch Video Solution

200. A crane ‘A" lifts a heavy load in 5 seconds,
whereas another crane 'B' does the same work in 2
seconds. Compare the power of crane ‘A’ to that of

crane 'B'.

o Watch Video Solution



https://dl.doubtnut.com/l/_sbe281mGV0LD
https://dl.doubtnut.com/l/_AgD3LNKABYtF
https://dl.doubtnut.com/l/_1G9vVl0ncZe6

201. A ray of light falls normally on a rectangular
glass slab.
Draw a ray diagram showing the path of the ray till it

emerges out of the slab.

o Watch Video Solution

202. Complete the path of the monochromatic light
ray AB incident on the surface PQ of the equilateral

glass prism PQR till it emerges out of the prism due


https://dl.doubtnut.com/l/_gR0jr2exB1d0
https://dl.doubtnut.com/l/_OsoMXG0B3iB5

to refraction.

° Watch Video Solution

203. Where should an object be placed in front of a
convex lens in order to get :

an enlarged real image

o Watch Video Solution



https://dl.doubtnut.com/l/_OsoMXG0B3iB5
https://dl.doubtnut.com/l/_usQe27MG7d56

204. Where should an object be placed in front of a
convex lens in order to get :

enlarged virtual image ?

° Watch Video Solution

205. A pond appears to be 2.7 m deep. If the refractive
4
index of water is 3 find the actual depth of the

pond.

° Watch Video Solution



https://dl.doubtnut.com/l/_usQe27MG7d56
https://dl.doubtnut.com/l/_zU1l3V2u611e
https://dl.doubtnut.com/l/_riq0cxLgEuwr

206. The wave lengths for the light of red and blue
colours are nearly 7.8 x 10~ "m and 4.8 x 10~ "m
respectively.

Which colour has the greater speed in a vacuum ?

o Watch Video Solution

207. The wave lengths for the light of red and blue
colours are nearly 7.8 x 10~ "m and 4.8 x 10~ "m
respectively.

Which colour has the greater speed in a vacuum ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wdi78XWV8RQq
https://dl.doubtnut.com/l/_TEx8RkirlBHz
https://dl.doubtnut.com/l/_VZQbN7MPBWAS

208. Draw a graph between displacement from mean
position and time for a body executing free vibration

in a vacuum.

o Watch Video Solution

209. A sound wave travelling in water has wavelength

04 m.

Is this wave audible in air ? (The speed of sound in

water = 1400ms 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_VZQbN7MPBWAS
https://dl.doubtnut.com/l/_MycsnyC850oa

210. Why does stone lying in the sun get heated up
much more than water lying for the same duration of

time ?

° Watch Video Solution

211. Why is it not advisable to use a piece of copper

wire as fuse wire in an electric circuit ?

° Watch Video Solution



https://dl.doubtnut.com/l/_L9mHPxfUuQGo
https://dl.doubtnut.com/l/_dUGm6Q9BjVMQ

212. Calculate the total resistance across AB:

0

° Watch Video Solution

213. Two metallic blocks P and Q having masses in
ratio 2 : 1 are supplied with the same amount of heat.
If their temperatures rise by same degree, compare

their specific heat capacities.

° Watch Video Solution



https://dl.doubtnut.com/l/_JIE1sK0TCgYG
https://dl.doubtnut.com/l/_LYQMinACHuih
https://dl.doubtnut.com/l/_oaa4FAwOUp1v

214.When a current carrying conductor is placed in a
magnetic field, it experiences a mechanical force.
What should be the angle between the magnetic field
and the length of the conductor so that the force
experienced is :

(i) Zero

(ii) Maximum ?

o Watch Video Solution

215. A nucleus 84X202 of an element emits an alpha
particle followed by a beta particle. The final nucleus

is ,Y°.Findaand b.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_oaa4FAwOUp1v
https://dl.doubtnut.com/l/_9ALCb2dQOQIb

216. The diagram below shows a loop of wire carrying

current I;

What is the magnetic polarity of the loop that faces

us?

° Watch Video Solution



https://dl.doubtnut.com/l/_9ALCb2dQOQIb
https://dl.doubtnut.com/l/_qWVz3ph9oBKL

217. The diagram below shows a loop of wire carrying

current I;

With respect to the diagram how can we increase the

strength of the magnetic field produced by this loop

?


https://dl.doubtnut.com/l/_qWVz3ph9oBKL
https://dl.doubtnut.com/l/_zp5hxgd8UlxF

o Watch Video Solution

218. Write the Sl unit of heat capacity.

o Watch Video Solution

219. What is the relationship between heat capacity

and specific heat capacity of a substance ?

° Watch Video Solution

220. The diagram below shows the change of phases

of a substance on a temperature vs time graph on


https://dl.doubtnut.com/l/_zp5hxgd8UlxF
https://dl.doubtnut.com/l/_oCzabEhvnxsH
https://dl.doubtnut.com/l/_5GpFZ4ENPMIu
https://dl.doubtnut.com/l/_8N0IH9zc3VYy

heating the substance at a constant rate.

L.

L

Why is the slope of CD less than slope of AB ?

o Watch Video Solution

221. The diagram below shows the change of phases
of a substance on a temperature vs time graph on

heating the substance at a constant rate.

temp °C F

B



https://dl.doubtnut.com/l/_8N0IH9zc3VYy
https://dl.doubtnut.com/l/_K7GT3jX2YGB1

What is the boiling and melting point of the

substance ?

° Watch Video Solution

222. A piece of ice of mass 60 g is dropped into 140 g
of water at 50° C.

Calculate the final temperature of water when all the
ice has melted.

(Assume no heat is lost to the surrounding)

1

Specific heat capacity of water =4.2Jg 'k~

Specific latent heat of fusion of ice = 336Jg !

o Watch Video Solution



https://dl.doubtnut.com/l/_K7GT3jX2YGB1
https://dl.doubtnut.com/l/_tgwE7wPiMr2C

223. Draw neat labeled diagram of a d.c. motor.

° Watch Video Solution

224. Write any one use of a d.c motor.

° Watch Video Solution

225. Differentiate between nuclear fusion and nuclear

fission.

o Watch Video Solution



https://dl.doubtnut.com/l/_OWXHI7w4mn44
https://dl.doubtnut.com/l/_KxAlelVxr0Bm
https://dl.doubtnut.com/l/_JLmn5ms5K3b7
https://dl.doubtnut.com/l/_navnNFjIcOHM

226. State one safety precaution in the disposal of

nuclear waste.

° Watch Video Solution

227. An atomic nucleus A is composed of 84 protons
and 128 neutrons. The nucleus A emits and alpha
particle and is transformed into a nucleus B.

(i) What is the composition of B ?

(i) The nucleus B emits a beta particle and is
transformed into a nucleus C. What is the
composition of C?

(iii) What is mass number of the nucleus A ?


https://dl.doubtnut.com/l/_navnNFjIcOHM
https://dl.doubtnut.com/l/_PyUvtyajGJYv

(iv) Does the composition of C change if it emits

gamma radiations ?

° Watch Video Solution

1. What do you understand by an ideal machine ? How

does it differ from a practical machine ?

° Watch Video Solution



https://dl.doubtnut.com/l/_PyUvtyajGJYv
https://dl.doubtnut.com/l/_s2FnOP4FyHQI

2. Write a relationship between the mechanical
advantage (M. A) and velocity ratio (V. R.) of an ideal

machine.

° Watch Video Solution

3. A coolie carrying a load on his head and moving on
a frictionless horizontal platform does no work.

Explain the reason why.

° Watch Video Solution



https://dl.doubtnut.com/l/_jbUBuy1nYBJP
https://dl.doubtnut.com/l/_n7CHhPzdDLce

4. Draw a diagram to show the energy changes in an
oscillating simple pendulum. Indicate in your diagram
how the total mechanical energy in it remains

constant during the oscillation.

o Watch Video Solution

5. A uniform metre scale can be balanced at the 70.0
cm mark when a mass of 0.05 kg is hung from the
94.0 cm mark.

Draw a diagram of the arrangement.

o Watch Video Solution



https://dl.doubtnut.com/l/_lmjbbFu99P2s
https://dl.doubtnut.com/l/_thoGFH3iWpLW
https://dl.doubtnut.com/l/_oKTxkJmBH2aK

6. A uniform metre scale can be balanced at the 70.0
cm mark when a mass of 0.05 kg is hung from the
94.0 cm mark.

Find the mass of the metre scale.

o Watch Video Solution

7. State the laws of refraction of light. State at least

three examples of refraction of light.

o Watch Video Solution



https://dl.doubtnut.com/l/_oKTxkJmBH2aK
https://dl.doubtnut.com/l/_nfDHMQlPkfRH

8. Write a relation between the angle of incidence
(i), angle of emergence (e), angle of prism (A) and
angle of deviation (d) for a ray of light passing

through an equilateral prism.

o Watch Video Solution

9. Suggest one way, in each case, by which we can
detect the presence of:
(1) Infra-red radiations

(2) Ultraviolet radiations

o Watch Video Solution



https://dl.doubtnut.com/l/_lTRNXhMVEClv
https://dl.doubtnut.com/l/_OXOBnQ5IBANv
https://dl.doubtnut.com/l/_yWrAAOqjMp3v

10. State any one use of infrared radiations.

o Watch Video Solution

11. An object is placed in front of a lens between its
optical centre and the focus and forms a virtual, erect
and diminished image.

Name the lens which formed this image.

o Watch Video Solution

12. An object is placed in front of a lens between its

optical centre and the focus and forms a virtual, erect


https://dl.doubtnut.com/l/_yWrAAOqjMp3v
https://dl.doubtnut.com/l/_IkypaVsMr1TS
https://dl.doubtnut.com/l/_PkS4C2xWnggn

and diminished image.
Draw a ray diagram to show the formation of the

image with the above stated characteristics.

° Watch Video Solution

13. Name the type of waves which are used for sound

ranging.

° Watch Video Solution

14. Why are these waves mentioned in (i) above, not

audible to us?

[ a WA o_L vl ~_01._.0°_ ]


https://dl.doubtnut.com/l/_PkS4C2xWnggn
https://dl.doubtnut.com/l/_dZ4WMFUYZ9uR
https://dl.doubtnut.com/l/_uLDWAYmfLIjK

{ ™ Vvallil VIUCO o0Iutivrll ) |

15. Give one use of sound ranging.

° Watch Video Solution

16. A man standing 25 m away from a wall produces a
sound and receives the reflected sound.
Calculate the time after which he receives the

reflected sound if the speed of sound in air is

350ms L.

° Watch Video Solution



https://dl.doubtnut.com/l/_uLDWAYmfLIjK
https://dl.doubtnut.com/l/_y1Im995rlLhx
https://dl.doubtnut.com/l/_LH6Gi68uhvB7
https://dl.doubtnut.com/l/_m9LOt1hZ9m0k

17. A man standing 25 m away from a wall produces a
sound and receives the reflected sound.
Will the man be able to hear a distinct echo ? Give a

reason for your answer.

o Watch Video Solution

18. Name two safety devices which are connected to

the live wire of a household electric circuit.

° Watch Video Solution



https://dl.doubtnut.com/l/_m9LOt1hZ9m0k
https://dl.doubtnut.com/l/_jUomYhC2rG7W

19. Give one important function of each of these two

devices.i) Switch ii) Fuse

° Watch Video Solution

20. Draw a graph of Potential difference (V) versus

Current (I) for an ohmic resistor.

° Watch Video Solution

21. How can you find the resistance of the resistor

from this graph?

[ o Watch Video Solution


https://dl.doubtnut.com/l/_tAoYwNN5Kokw
https://dl.doubtnut.com/l/_hG7znIMnVcgr
https://dl.doubtnut.com/l/_BPJIla3IUbTe

22. What is a non-ohmic resistor ?

° Watch Video Solution

23. An electric bulb is marked 100 W, 250 V. What

information does this convey?

° Watch Video Solution

24. How much current will the bulb draw, if connected

to a 250 V supply?

Y. |


https://dl.doubtnut.com/l/_BPJIla3IUbTe
https://dl.doubtnut.com/l/_mzyFIqh1KKxH
https://dl.doubtnut.com/l/_vCNRNJ8xJOcd
https://dl.doubtnut.com/l/_QL3dTRXHTu9g

| ¥ VWatch Video solution |

25. Three resistors are connected to a 12 V battery as

shown in the figure given below :

e

e (o)
R \*/

XV

LES!

What is the current through the 8 ohm resistor ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QL3dTRXHTu9g
https://dl.doubtnut.com/l/_hbc7m66IlouP

26. Three resistors are connected to a 12 V battery as

shown in the figure given below :

F

—
12V
120)
—AAAA—
81 N
% 6.;.1.___..___#'

What is the potential difference across the parallel

combination of 6 ohm and 12 ohm resistor ?

° Watch Video Solution



https://dl.doubtnut.com/l/_vn6m25DOoKYh

27. Three resistors are connected to a 12 V battery as

shown in the figure given below :

-~

i
12V
120
—AAAA—
80
L ﬁn o

What is the current through the 6 ohm resistor ?

o Watch Video Solution

28. Explain why the weather becomes very cold after a

hail storm.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_u5nuiyERPRUg
https://dl.doubtnut.com/l/_RPS8bmd5Ffgy

29. What happens to the heat supplied to a
substance when the heat supplied causes no change

in the temperature of the substance ?

° Watch Video Solution

30.When 1 g of ice at 0° C melts to form 1 g of water
at 0° C then, is the latent heat absorbed by the ice or

given out by it?

° Watch Video Solution



https://dl.doubtnut.com/l/_RPS8bmd5Ffgy
https://dl.doubtnut.com/l/_q3z2X8u4Ikh7
https://dl.doubtnut.com/l/_UV19tqQ81cAO

31. Give one example where high specific heat

capacity of water is used as a heat reservoir.

° Watch Video Solution

32. Give one example where high specific heat

capacity of water is used for cooling purposes.

° Watch Video Solution

33. 250 g of water at 30°C is present in a copper
vessel of mass 50 g. Calculate the mass of ice

required to bring down the temperature of the vessel


https://dl.doubtnut.com/l/_M9vXxoWMvCOM
https://dl.doubtnut.com/l/_G9ueiauKtUQx
https://dl.doubtnut.com/l/_GUM15VIVENgK

and its contents to 5°C.

Specific latent heat of fusion of ice = 336 x 10°Jkg ~*
Specific  heat capacity of copper vessel =
400Jkg " t°C !

Specific heat capacity of water = 4200Jkg ' °C 1.

o Watch Video Solution

34. State two properties which a substance should

possess when used as a thermionic emitter.

° Watch Video Solution



https://dl.doubtnut.com/l/_GUM15VIVENgK
https://dl.doubtnut.com/l/_wcqw698buv7n

35. When an alpha particle gains two electrons it
becomes neutral and becomes an atom of an element

which is a rare gas. What is the name of this rare gas?

o Watch Video Solution

36. Define radioactivity. Name various radioactive

elements.

° Watch Video Solution

37. What happens inside the nucleus that causes the

emission of beta particle ?


https://dl.doubtnut.com/l/_qK3T3rGF2goC
https://dl.doubtnut.com/l/_3DQmNiVrv8CZ
https://dl.doubtnut.com/l/_trmEfaMIPVeC

o Watch Video Solution

38. What happens inside the nucleus that causes
emission of beta particle?

Express the above change in the form of an equation.

° Watch Video Solution

39. Name a device which is commonly used to convert

an electrical signal into a visual signal.

° Watch Video Solution



https://dl.doubtnut.com/l/_trmEfaMIPVeC
https://dl.doubtnut.com/l/_z6q4GOcyLZj1
https://dl.doubtnut.com/l/_xoJVmq8WvaBH

40. The nucleus gng emits an alpha particle and
forms the nucleus Y. Represent this change in the

form of an equation.

° Watch Video Solution

41. What happens to the mass number and atomic
number of an element when it emits gamma-

radiation

° Watch Video Solution



https://dl.doubtnut.com/l/_AR8UDehGVtE2
https://dl.doubtnut.com/l/_gOg2p8hMovQz

42. Which of the following remains constant in

uniform circular motion. Speed or Velocity or both ?

° Watch Video Solution

43. Name the force required for circular motion. State

its direction.

° Watch Video Solution

44. State the class of levers and the relative positions
of load (L), effort (E) and fulcrum (F) in each of the

following cases.


https://dl.doubtnut.com/l/_BJgzMpAUd4HX
https://dl.doubtnut.com/l/_bRb4WQ0Fx43x
https://dl.doubtnut.com/l/_inJmoz2d42Od

(1) A bottle opener

(2) Sugar tongs.

° Watch Video Solution

45. Why is less effort needed to lift a load over an

inclined plane as compared to lifting the load directly

?

° Watch Video Solution

46. A moving body weighing 400 N possesses 500 ] of
kinetic energy. Calculate the velocity with which the

body is moving. (g = 10m3_2)


https://dl.doubtnut.com/l/_inJmoz2d42Od
https://dl.doubtnut.com/l/_siAPqhAdcsE0
https://dl.doubtnut.com/l/_0zG5iFmFtR0y

o Watch Video Solution

47. Under what condition will a set of gears produce :
(1) a gain in speed

(2) a gain in torque.

o Watch Video Solution

48. What is meant by the term 'critical angle'?

° Watch Video Solution



https://dl.doubtnut.com/l/_0zG5iFmFtR0y
https://dl.doubtnut.com/l/_pAtVljsFiTIx
https://dl.doubtnut.com/l/_W90noXQumVRT

49. How is it related to the refractive index of the

medium ?

° Watch Video Solution

50. A tank of water is viewed normally from above.

(a) State how does the depth of the tank appear to
change.

(b) Draw a labelled ray diagram to explain your

answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_y5AM66fI7STL
https://dl.doubtnut.com/l/_lSc4n1Qn05sW

51. A ray of light PQ is incident normally on the
hypotenuse of a right angled prism ABC as shown in
the diagram given below:

Copy the diagram and complete the path of the ray

PQ till it emerges from the prism.

o Watch Video Solution

52. A ray of light PQ is incident normally on the
hypotenuse of a right angled prism ABC as shown in
the diagram given below:

What is the value of the angle of deviation of the ray


https://dl.doubtnut.com/l/_6in6rINRriYA
https://dl.doubtnut.com/l/_xfziDRG3faW1

° Watch Video Solution

53. A ray of light PQ is incident normally on the
hypotenuse of a right angled prism ABC as shown in

the diagram given below:


https://dl.doubtnut.com/l/_xfziDRG3faW1
https://dl.doubtnut.com/l/_fUNetFbmhA0C

Name an instrument where this action of the prism is

used.

° Watch Video Solution

54. A converging lens is used to obtain an image of
an object placed in front of it. The inverted image is
formed between F, and 2F5 of the lens.

Where is the object placed ?

° Watch Video Solution

55. A converging lens is used to obtain an image of

an object placed in front of it. The inverted image is


https://dl.doubtnut.com/l/_fUNetFbmhA0C
https://dl.doubtnut.com/l/_QJTjOpGZr1nm
https://dl.doubtnut.com/l/_Rt7X399RvagS

formed between F5 and 2F; of the lens.
Draw a ray diagram to illustrate the formation of the

image obtained.

° Watch Video Solution

56. What is meant by Resonance ?

° Watch Video Solution

57. State two ways in which Resonance differs from

Forced vibrations.

o Watch Video Solution



https://dl.doubtnut.com/l/_Rt7X399RvagS
https://dl.doubtnut.com/l/_xqB1juhYJZRq
https://dl.doubtnut.com/l/_VTVYSD8ahR0n

58. A man standing between two cliffs produces a
sound and hears two successive echoes at intervals
of 3 s and 4 s respectively. Calculate the distance
between the two cliffs.

The speed of sound in the air is 330ms .

o Watch Video Solution

59. Why will an echo not be heard when the distance
between the source of sound and the reflecting

surfaceis 10 m?

o Watch Video Solution



https://dl.doubtnut.com/l/_QcKrfgNB7v8i
https://dl.doubtnut.com/l/_bDBYCeyMvuqZ
https://dl.doubtnut.com/l/_RUAqiEz6BIc9

60. The diagram below shows the displacement-time
graph for a vibrating body.
Name the type of vibrations produced by the

vibrating body.

e

| Displacement —»

o Watch Video Solution

61. The diagram in Fig. shows the displacement time

graph of a vibrating body.


https://dl.doubtnut.com/l/_RUAqiEz6BIc9
https://dl.doubtnut.com/l/_GK9FUZT2J3Aw

+
1)

DISPLACEMENT ——
|

|
i

Give one example of such vibrations.

o Watch Video Solution

62. The diagram in Fig. shows the displacement time

graph of a vibrating body.


https://dl.doubtnut.com/l/_GK9FUZT2J3Aw
https://dl.doubtnut.com/l/_jUoUz89ztECB

+
ax
rd

A‘ DISPLACEMENT ——

Why is the amplitude of vibrations gradually

decreasing ?

° Watch Video Solution

63. The diagram in Fig. shows the displacement time

graph of a vibrating body.


https://dl.doubtnut.com/l/_jUoUz89ztECB
https://dl.doubtnut.com/l/_2yGwHVegmXTB

+
o)

DISPLACEMENT —

I
D

What happens to the vibrations of the body after

some time?

° Watch Video Solution

64. A cell is sending current in an external circuit.
How does the terminal voltage compare with the

e.m.f. of the cell ?

o Watch Video Solution



https://dl.doubtnut.com/l/_2yGwHVegmXTB
https://dl.doubtnut.com/l/_y2Bvw4WPZJ0E

65. What is the role of fuse, used in series with any
electrical appliance? Why should a fuse with defined

rating not be replaced by one with a larger rating?

° Watch Video Solution

66. What are the characteristic properties of fuse wire

?

° Watch Video Solution



https://dl.doubtnut.com/l/_y2Bvw4WPZJ0E
https://dl.doubtnut.com/l/_9735H5BNK584
https://dl.doubtnut.com/l/_K0KLI75hhUPc

67. Write an expression for the electrical energy spent
in the flow of current through an electrical appliances

in terms of I, R and t.

° Watch Video Solution

68. At what voltage is the alternating current

supplied to our houses ?

° Watch Video Solution

69. How should the electric lamps in a building be

connected ?


https://dl.doubtnut.com/l/_IwbpuImLAcBm
https://dl.doubtnut.com/l/_tanlUTcNO6Md
https://dl.doubtnut.com/l/_oG3z8CAG8rUo

o Watch Video Solution

70. Three resistors are connected to a 6 V battery as

shown in the figure given below :

MMM, 1
=90 BL !
mh L LEs .
e

1202

.
&V
| —-_|_1_-"__I;:,'— — = — -__ J
Calculate :

the equivalent resistance of the circuit.

o Watch Video Solution



https://dl.doubtnut.com/l/_oG3z8CAG8rUo
https://dl.doubtnut.com/l/_8RfQRtIvTu2o
https://dl.doubtnut.com/l/_NILiBZ9eW3gQ

71. Three resistors are connected to a 6 V battery as

shown in the figure given below :

720 | B

1262

S —

CRY
—i e
Calculate :

total current in the circuit.

o Watch Video Solution

72. Three resistors are connected to a 6 V battery as

shown in the figure given below :


https://dl.doubtnut.com/l/_NILiBZ9eW3gQ
https://dl.doubtnut.com/l/_ESpH6qiUrVGd

720 80

120

6V
—— —(=)

Calculate :

potential difference across the 7.2(2 resistor.

° Watch Video Solution

73. Write an expression for the heat energy liberated

by a hot body.

o Watch Video Solution



https://dl.doubtnut.com/l/_ESpH6qiUrVGd
https://dl.doubtnut.com/l/_Q3ieIl9CkVZL
https://dl.doubtnut.com/l/_vnlBNTbAvAPG

74. Some heat is provided to a body to raise its
temperature by 25°C. What will be the
corresponding rise in temperature of the body as

shown on the Kelvin scale ?

° Watch Video Solution

75. What happens to the average kinetic energy of

the molecules as ice melts at 0°C' ?

° Watch Video Solution



https://dl.doubtnut.com/l/_vnlBNTbAvAPG
https://dl.doubtnut.com/l/_5xBh4WJw8Dlp

76. A piece of ice at 0° C' is heated at a constant rate
and its temperature recorded at regular intervals till
steam is formed at 100° C'. Draw a temperature-time
graph to represent the change in phase. Label the

different parts of your graph.

o Watch Video Solution

77. 40 g of ice at 0°C is used to bring down the
temperature of a certain mass of water at 60°C to
10° C.Find the mass of water used.

[Specific heat capacity of water = 4200 Jkg ~'°C ]


https://dl.doubtnut.com/l/_pQxHbAr8fgL4
https://dl.doubtnut.com/l/_J31iXCxDtOoL

[Specific latent heat of fusion of ice =

336 x 10°Jkg 1]

° Watch Video Solution

78. The diagram below shows a current carrying loop
or a circular coil passing through a sheet of
cardboard at the points M and N. The sheet of

cardboard is sprinkled uniformly with iron filings.


https://dl.doubtnut.com/l/_J31iXCxDtOoL
https://dl.doubtnut.com/l/_vnuuk03N7pHl

/57

il—'irt." (=}

Copy the diagram and draw an arrow on the circular
coil to show the direction of current flowing through

it.

o Watch Video Solution

79. The diagram below shows a current carrying loop

or a circular coil passing through a sheet of


https://dl.doubtnut.com/l/_vnuuk03N7pHl
https://dl.doubtnut.com/l/_TYqa0msw10Be

cardboard at the points M and N. The sheet of

cardboard is sprinkled uniformly with iron filings.

Draw the pattern of arrangement of the iron filings

when current is passed through the loop.

o Watch Video Solution



https://dl.doubtnut.com/l/_TYqa0msw10Be

80. Draw a simplified labelled diagram of a hot

cathode ray tube.

° Watch Video Solution

81. Name a common device where a hot cathode ray

tube is used.

° Watch Video Solution

82. A certain nucleus X has a mass number 14 and

atomic number 6. The nucleus X changes to ;Y !4


https://dl.doubtnut.com/l/_PsMnfS8wait4
https://dl.doubtnut.com/l/_mZPPgqCGAYK3
https://dl.doubtnut.com/l/_fkNreKvx1u6z

after the loss of a particle.

Name the particle emitted.

° Watch Video Solution

8. A certain nucleus X has a mass number 14 and
atomic number 6. The nucleus X changes to ;Y1
after the loss of a particle.

Represent this change in the form of an equation.

° Watch Video Solution

84. A certain nucleus X has a mass number 14 and

atomic number 6. The nucleus X changes to ;Y !4


https://dl.doubtnut.com/l/_fkNreKvx1u6z
https://dl.doubtnut.com/l/_lnSRd6cO9ywM
https://dl.doubtnut.com/l/_Ne504oLSMH1D

after the loss of a particle.
A radioactive substance is oxidized. What change
would you expect to take place in the nature of its

radioactivity ? Give a reason for your answer.

o Watch Video Solution

85. With reference to the direction of action, how
does a centripetal force differ from a centrifugal

during uniform circular motion ?

° Watch Video Solution

86. State the principle of conservation of energy.


https://dl.doubtnut.com/l/_Ne504oLSMH1D
https://dl.doubtnut.com/l/_R5QwU4cBqrg6
https://dl.doubtnut.com/l/_unUQKn7ZgYyI

o Watch Video Solution

87. Name the form of energy which a body may
possess even when it is not in motion. Give an

example to support your answer.

o Watch Video Solution

88. A coolie is pushing a box weighing 1500 N up an
inclined plane 7.5 m long on to a platform, 2.5 m
above the ground.

Calculate the mechanical advantage of the inclined

plane.



https://dl.doubtnut.com/l/_unUQKn7ZgYyI
https://dl.doubtnut.com/l/_m6QMKhHndWPY
https://dl.doubtnut.com/l/_1Hey9jhKyG2c

\ ° Watch Video Solution

89. A coolie is pushing a box weighing 1500 N up an
inclined plane 7.5 m long on to a platform, 2.5 m
above the ground.

Calculate the effort applied by the coolie.

° Watch Video Solution

90. A coolie is pushing a box weighing 1500 N up an
inclined plane 7.5 m long on to a platform, 2.5 m
above the ground.

In actual practice, the coolie needs to apply more


https://dl.doubtnut.com/l/_1Hey9jhKyG2c
https://dl.doubtnut.com/l/_VUliEV6I90pS
https://dl.doubtnut.com/l/_INWFPeIhUcIs

effort than what is calculated. Give one reason why

you think the coolie needs to apply more effort.

° Watch Video Solution

91. A block and tackle system of pulleys has velocity
ratio 4.

Draw a neat labelled diagram of the system
indicating clearly the points of application and

direction of load and effort.

° Watch Video Solution



https://dl.doubtnut.com/l/_INWFPeIhUcIs
https://dl.doubtnut.com/l/_GleqIQpVR25v

92. A block and tackle system of pulleys has a velocity
ratio 4.
What is the value of the mechanical advantage of the

given pulley system if it is an ideal pulley system?

o Watch Video Solution

93. Name the radiations :

that are used for photography at night.

° Watch Video Solution



https://dl.doubtnut.com/l/_p6VDQx9SgGu4
https://dl.doubtnut.com/l/_aeiPVxU9SfyN

94. Name the radiations :

used for detection of fracture in bones.

° Watch Video Solution

95. Name the radiations :
whose wavelength range is from 100 A to 4000 A (or

10 nm to 400 nm).

° Watch Video Solution

96. Define the term refractive index of a medium. Can

it be less than 17?


https://dl.doubtnut.com/l/_7GTw4rr2aEyf
https://dl.doubtnut.com/l/_gpop6zYzGZb1
https://dl.doubtnut.com/l/_S1HDwGLzXGhj

o Watch Video Solution

97. A coin placed at the bottom of a beaker appears
to be raised by 4.0 cm. If the refractive index of water

is 4/3, find the depth of the water in the beaker.

o Watch Video Solution

98. An object AB is placed between 2F} and F) on
the principal axis of a convex lens as shown in the

diagram:


https://dl.doubtnut.com/l/_S1HDwGLzXGhj
https://dl.doubtnut.com/l/_h1Txe6Z7SHdJ
https://dl.doubtnut.com/l/_qFNMyaktw48z

Copy the diagram and using three rays starting from
point A, obtain the image of the object formed by the

lens.

° Watch Video Solution

99. What is the principle on which SONAR is based ?

° Watch Video Solution



https://dl.doubtnut.com/l/_qFNMyaktw48z
https://dl.doubtnut.com/l/_EdLgOx2DTzTM

100. An observer stands at a certain distance away
from a cliff and produces a loud sound. He hears the
echo of the sound after 1.8 s. Calculate the distance
between the cliff and the observer if the velocity of

sound in air is 340ms 1.

o Watch Video Solution

101. A vibrating tuning fork is placed over the mouth
of a burette filled with water. The tap of the burette is
opened and the water level gradually starts falling. It
is found that the sound from the tuning fork

becomes very loud for a particular length of the


https://dl.doubtnut.com/l/_wQXVtViAEYIA
https://dl.doubtnut.com/l/_oYfGx4tplmUt

water column.
Name the phenomenon taking place when this

happens.

° Watch Video Solution

102. A vibrating tuning fork is placed over the mouth
of a burette filled with water. The tap of the burette is
opened and the water level gradually starts falling. It
is found that the sound from the tuning fork
becomes very loud for a particular length of the
water column.

Why does the sound become very loud for this lenght

of the water column?



https://dl.doubtnut.com/l/_oYfGx4tplmUt
https://dl.doubtnut.com/l/_YepzUjE8uKnJ

l ° Watch Video Solution

103. What is meant by the terms (1) amplitude (2)

frequency, of a wave ?

o Watch Video Solution

104. Explain, why stringed musical instruments, like

the guitar, are provided with a hollow box

o Watch Video Solution



https://dl.doubtnut.com/l/_YepzUjE8uKnJ
https://dl.doubtnut.com/l/_7Ouxcji5QyIB
https://dl.doubtnut.com/l/_htEfKQk0R32A

105. It is observed that the temperature of the
surroundings starts falling when the ice in a frozen

lake starts melting. Give a reason for the observation.

o Watch Video Solution

106. How is the heat capacity of the body related to

its specific heat capacity ?

° Watch Video Solution

107. Why does a bottle of soft drink cool faster when

surrounded by ice cubes than by ice cold water, both


https://dl.doubtnut.com/l/_eJuTQwm8JMnX
https://dl.doubtnut.com/l/_kD8YhLD18q7v
https://dl.doubtnut.com/l/_QPUyDF9CBSQl

at 0°C?

° Watch Video Solution

108. A certain amount of heat Q will warm 1 g of
material X by 3°C and 1 g of material Y by 4°C.

Which material has a higher specific heat capacity ?

° Watch Video Solution

109. A calorimeter of mass 50 g and specific heat
capacity 0.42Jg '°C~! contains some mass of
water at 20°C. A metal piece of mass 20 g at 100°C'is

dropped into the calorimeter. After stirring, the final


https://dl.doubtnut.com/l/_QPUyDF9CBSQl
https://dl.doubtnut.com/l/_GFBNZci0BfLI
https://dl.doubtnut.com/l/_D6pkOg9dD8AT

temperature of the mixture is found to be 22° C'. Find
the mass of water used in the calorimeter.

[specific heat capacity of the metal piece =
0.3Jg t°C!

specific heat capacity of water =4.2Jg ~1°C ~1]

o Watch Video Solution

110. State Ohm's law and draw a neat labelled circuit
diagram containing a battery, a key, a voltmeter, an
ammeter, a rheostat and an unknown resistance to

verify it.

o Watch Video Solution



https://dl.doubtnut.com/l/_D6pkOg9dD8AT
https://dl.doubtnut.com/l/_ZfRiM9NZcOeH

111. A metal wire of resistance 612 is stretched so that
its length is increased to twice its original length.

Calculate its new resistance.

° Watch Video Solution

112. An electrical gadget can give an electric shock to
its user under certain circumstances. Mention any

two of these circumstances.

° Watch Video Solution



https://dl.doubtnut.com/l/_XgiyZlw1VESb
https://dl.doubtnut.com/l/_XAFuVHfSNuHA

113. What preventive measure provided in a gadget

can protect a person from an electric shock?

° Watch Video Solution

114. The figure shows a circuit.
When the circuit is switched on, the ammeter reads

0.5A.

=

—@—w

L 3101 73

Calculate the value of the unknown resistor R.

Y. I


https://dl.doubtnut.com/l/_CJCWq9UKBCQh
https://dl.doubtnut.com/l/_K53NRs1l2JIl

| ¥ Watch Video Solution ]

115. The figure shows a circuit.
When the circuit is switched on, the ammeter reads

0.5A.

Calculate the charge passing through the 3(2 resistor

in 120 s.

° Watch Video Solution



https://dl.doubtnut.com/l/_K53NRs1l2JIl
https://dl.doubtnut.com/l/_1OqO0CEbSSYS

116. The figure shows a circuit.
When the circuit is switched on, the ammeter reads

0.5A.

60V

(&) AN ——AMA—

Calculate the power dissipated in the 32 resistor.

° Watch Video Solution

117. Name the three main parts of a Cathode Ray

Tube.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_wSUvKsR81uQZ
https://dl.doubtnut.com/l/_DOSg1aWa1ePV

118. What is meant by Radioactivity ?

° Watch Video Solution

119. What is meant by nuclear waste ? State one way

for the safe disposal of nuclear waste.

° Watch Video Solution

120. Suggest one effective way for the safe disposal of

nuclear waste.

N |


https://dl.doubtnut.com/l/_DOSg1aWa1ePV
https://dl.doubtnut.com/l/_nMPPoAU5a8Bb
https://dl.doubtnut.com/l/_goQIe7H9fxs3
https://dl.doubtnut.com/l/_2JPhYeraycgq

| ¥ Watch Video >Solution

121. Draw neat labeled diagram of a d.c. motor.

° Watch Video Solution

122. What is the function of the split rings in a d.c.

motor ?

o Watch Video Solution

123. State one advantage of a.c. over d.c.

o Watch Video Solution



https://dl.doubtnut.com/l/_2JPhYeraycgq
https://dl.doubtnut.com/l/_qLL89KVhgrBn
https://dl.doubtnut.com/l/_zrFPHsRTxQKk
https://dl.doubtnut.com/l/_ze60fIfAOBJT

124. A man having a box on his head, climbs up a
slope and another man having an identical box walks
the same distance on a levelled road. Who does more

work against the force of gravity and why?

° Watch Video Solution

125. The forces each of magnitude 10N act vertically
upwards and downwards respectively at the two ends
A and B of a uniform rod of length 4m which is
pivoted at its mid point O as shown is fig. 130,

Determine the magnitude of the resultant moment of


https://dl.doubtnut.com/l/_ze60fIfAOBJT
https://dl.doubtnut.com/l/_tOL92O5ImlDQ
https://dl.doubtnut.com/l/_3GDfMbxMtYm3

forces about the pivot O.

o Watch Video Solution

126. A body is thrown vertically upwards. Its velocity
keeps on decreasing. What happens to its kinetic

energy as its velocity becomes zero ?

° Watch Video Solution



https://dl.doubtnut.com/l/_3GDfMbxMtYm3
https://dl.doubtnut.com/l/_K9bduXp0MgMu
https://dl.doubtnut.com/l/_5Ytr2LvPinMo

127. Draw a diagram to show how a single pulley can

be used so as to have its ideal M.A. = 2.

o Watch Video Solution

128. Derive a relationship between mechanical

advantage, velocity ratio and efficiency of a machine.

o Watch Video Solution

129. Light passes through a rectangular glass slab

and through a triangular glass prism. In what way


https://dl.doubtnut.com/l/_5Ytr2LvPinMo
https://dl.doubtnut.com/l/_ekTMTZFoH7vl
https://dl.doubtnut.com/l/_DO0ymSh5vf0F

does the direction of the two emergent beams differ

and why?

° Watch Video Solution

130. Ranbir claims to have obtained an image twice
the size of the object with a concave lens. Is he

correct? Give a reason for your answer.

° Watch Video Solution

131. A lens forms an erect, magnified and virtual
image of an object.

Name the lens.


https://dl.doubtnut.com/l/_DO0ymSh5vf0F
https://dl.doubtnut.com/l/_ZbH4gWxwX7JD
https://dl.doubtnut.com/l/_osiwgukECdmT

o Watch Video Solution

132. A lens forms an erect, magnified and virtual
image of an object.
Draw a labelled ray diagram to show the image

formation.

o Watch Video Solution

133. Define the power of a lens.

o Watch Video Solution



https://dl.doubtnut.com/l/_osiwgukECdmT
https://dl.doubtnut.com/l/_0YOWOkptydIr
https://dl.doubtnut.com/l/_S1YoXBSftWpf

134. The lens mentioned in 6 (b) above is of focal

length 25 cm. Calculate the power of the lens.

° Watch Video Solution

135. The adjacent diagram shows three different

modes of vibrations P, Q and R of the same string.

r—— ﬁ

| e e



https://dl.doubtnut.com/l/_faYYeVePT0oN
https://dl.doubtnut.com/l/_9b1Z9wy7iLL4

Which vibration will produce a louder sound and

why?

° Watch Video Solution

136. The adjacent diagram shows three different

modes of vibrations P, Q and R of the same string.



https://dl.doubtnut.com/l/_9b1Z9wy7iLL4
https://dl.doubtnut.com/l/_UvzmufArjbuc

The sound of which string will have maximum

shrillness?

° Watch Video Solution

137. The adjacent diagram shows three different

modes of vibrations P, Q and R of the same string.
F i |

e e
e

State the ratio of wavelengths of P and R.


https://dl.doubtnut.com/l/_UvzmufArjbuc
https://dl.doubtnut.com/l/_TIZPLZMWaLpr

o Watch Video Solution

138. A type of electromagnetic wave has wavelength
50 A.

Name the wave.

o Watch Video Solution

139. A type of electromagnetic wave has wavelength
50 A.

What is the speed of the wave in vacuum ?

° Watch Video Solution



https://dl.doubtnut.com/l/_TIZPLZMWaLpr
https://dl.doubtnut.com/l/_dCHiLff62XTc
https://dl.doubtnut.com/l/_cAa6xeX7bznv

140. A type of electromagnetic wave has wavelength
50 A.

State one use of this type of wave.

o Watch Video Solution

141. State one important property of waves used for

echo depth sounding.

° Watch Video Solution

142. A radar sends a signal to an aircraft at a distance

of 30 km away and receives it back after 2 x 104


https://dl.doubtnut.com/l/_mLSEWOuAmhf2
https://dl.doubtnut.com/l/_F26C2knQRiQq
https://dl.doubtnut.com/l/_TjxvIn0ANfER

second. What is the speed of the signal ?

° Watch Video Solution

143. Two resistors of 42 and 6€2 are connected in
parallel to a cell to draw 0.5 A current from the cell.
Draw a labelled circuit diagram showing the above

arrangement.

° Watch Video Solution

144. Two resistors of 42 and 6€2 are connected in
parallel to a cell to draw 0.5 A current from the cell.

Calculate the current in each resistor.


https://dl.doubtnut.com/l/_TjxvIn0ANfER
https://dl.doubtnut.com/l/_UHtsJhOIHPeD
https://dl.doubtnut.com/l/_fTKguakARoAH

o Watch Video Solution

145. What is an Ohmic resistor ?

o Watch Video Solution

146. Two copper wires are of the same length, but one
is thicker than the other.
(1) Which wire will have more resistance ?

(2) Which wire will have more specific resistance ?

° Watch Video Solution



https://dl.doubtnut.com/l/_fTKguakARoAH
https://dl.doubtnut.com/l/_5QSpVow3DhXu
https://dl.doubtnut.com/l/_AvVEHIgOyiTC

147. Two sets A and B, of three bulbs each, are
glowing in two separate rooms. When one of the
bulbs in set A is fused, the other two bulbs also cease
to glow. But in set B, when one bulb fuses, the other
two bulbs continue to glow. Explain why this

phenomenon occurs.

o Watch Video Solution

148. Two sets A and B, of three bulbs each, are
glowing in two separate rooms. When one of the
bulbs in set A is fused, the other two bulbs also cease

to glow. But in set B, when one bulb fuses, the other


https://dl.doubtnut.com/l/_ABbILICypqPg
https://dl.doubtnut.com/l/_S00amKYmkxuE

two bulbs continue to glow. Why do we prefer

arrangements of Set B for house circuiting?

° Watch Video Solution

149. Heat energy is supplied at a constant rate to 100
g of ice at 0°C. The ice is converted into water at
0° C'in 2 minutes. How much time will be required to
raise the temperature of water from 0°C to 20°C
? [Given : sp. Heat capacity of water 4.2g 1°C 1, sp.

latent heat of ice = 336J¢g -1

° Watch Video Solution



https://dl.doubtnut.com/l/_S00amKYmkxuE
https://dl.doubtnut.com/l/_lPP4dOCrlXqv

150. The specific heat capacity of a substance A is
3,800Jkg 'K ! and that of a substance B is
400Jkg 'K ~!. Which of the two substances is a
good conductor of heat ? Give a reason for your

answer.

o Watch Video Solution

151. Specific heat capacity of substance A is
3.8Jg 'K ~! whereas the specific heat capacity of
substance B is 0.4Jg 'K .

How is one led to the above conclusion ?

o Watch Video Solution



https://dl.doubtnut.com/l/_vOYQizUIUzlm
https://dl.doubtnut.com/l/_lysayGVTvaBf

152. Specific heat capacity of substance A is
3.8Jg 'K ~1 whereas the specific heat capacity of
substance B is 0.4Jg 1K 1.

If substances A and B are liquids then which one

would be more useful in car radiators ?

o Watch Video Solution

153. State two ways to minimise the impact of global

warming.

o Watch Video Solution



https://dl.doubtnut.com/l/_lysayGVTvaBf
https://dl.doubtnut.com/l/_jX5Kjz2lyFLh
https://dl.doubtnut.com/l/_JNjxQtEofic1
https://dl.doubtnut.com/l/_biYYwAaLXwGq

154. What is the greenhouse effect?

° Watch Video Solution

155. Name two factors on which the magnitude of an

induced e.m.f. in the secondary coil depends.

o Watch Video Solution

156. In the following diagram an arrow shows the
motion of the coil towards the bar magnet.
(1) State in which direction the current flows, A to B

orBtoA?


https://dl.doubtnut.com/l/_biYYwAaLXwGq
https://dl.doubtnut.com/l/_Jlv9r5v5L1AA
https://dl.doubtnut.com/l/_ULsNWsBzYImp

(2) Name the law used to come to the conclusion.

I —_— T |
Magnet '

J)PET=S

|"--l""—-l""|-..-""'"-.rl"

LA B

° Watch Video Solution

157. A nucleus ;1 Na?* emits a beta particle to change
into Magnesium (Mg).

Write the symbolic equation for the process.

° Watch Video Solution



https://dl.doubtnut.com/l/_ULsNWsBzYImp
https://dl.doubtnut.com/l/_2ICAclVi5zmY

158. A nucleus ;;Na** emits a B-particle to change
into magnesium (Mg).

What are numbers 24 and 11 called?

° Watch Video Solution

159. A nucleus ;; Na?* emits a beta particle to change
into Magnesium (Mg).

What is the general name %%Mg with respect to %%Na

?

° Watch Video Solution



https://dl.doubtnut.com/l/_GOqolZRDboox
https://dl.doubtnut.com/l/_XolHbXZi326v

160. In a cathode ray tube state :
the purpose of covering cathode by thorium and

carbon.

° Watch Video Solution

161.In a cathode ray tube state :

the purpose of the fluorescent screen.

° Watch Video Solution

162. In a cathode ray tube state:

How is it possible to increase the rate of emission of


https://dl.doubtnut.com/l/_fOK01S8OCoKC
https://dl.doubtnut.com/l/_PiXzwWpvEnF2
https://dl.doubtnut.com/l/_w5s37cNL96x1

electrons.

° Watch Video Solution

163. Draw a simplified diagram of a lemon crusher,

indicating direction of load and effort.

o Watch Video Solution

164. Name the physical quantity measured in terms of

horse power.

o Watch Video Solution



https://dl.doubtnut.com/l/_w5s37cNL96x1
https://dl.doubtnut.com/l/_QkxFgYtjNWTP
https://dl.doubtnut.com/l/_ny4oBAzFVKgS
https://dl.doubtnut.com/l/_sfDJBHUWhQif

165. A nut is opened by a wrench of length 20 cm. If
the least force required is 2 N, find the moment of

force needed to loosen the nut.

° Watch Video Solution

166. Explain briefly why the work done by a fielder

when he takes a catch in a cricket match is negative.

o Watch Video Solution

167. A block and tackle system has V.R. = 5.

Draw a neat labelled diagram of a system indicating


https://dl.doubtnut.com/l/_sfDJBHUWhQif
https://dl.doubtnut.com/l/_zyszJK514Q98
https://dl.doubtnut.com/l/_dar47DPnVqtj

the direction of its load and effort.

° Watch Video Solution

168. A block and tackle system has V.R. = 5.
Rohan exerts a pull of 150 kgf. What is the maximum
load he can raise with this pulley system if its

efficiency =75% ?

° Watch Video Solution

169. Where should an object be placed so that a real
and inverted image of the same size as the object is

obtained using a convex lens ?


https://dl.doubtnut.com/l/_dar47DPnVqtj
https://dl.doubtnut.com/l/_Rfxd9mhignDp
https://dl.doubtnut.com/l/_ewe9GvNLHQyN

A f

B. 2f

C.f/2

D. centre

Answer: 2f

° Watch Video Solution

(a) (i) Where should an object be placed so that a real
and inverted image of the same size as the object is
170. oblained using a convex lens ?

Draw a ray diagram to show the formation of the

image as specified in the part a.

| O Watch Video Solution


https://dl.doubtnut.com/l/_ewe9GvNLHQyN
https://dl.doubtnut.com/l/_s62qCjAI91QZ

171. Why does the Sun appear reddish early in the

morning?

° Watch Video Solution

172. Name the subjective property of light related to

its wavelength.

o Watch Video Solution



https://dl.doubtnut.com/l/_s62qCjAI91QZ
https://dl.doubtnut.com/l/_Ao4PQEdGmPaJ
https://dl.doubtnut.com/l/_ayuO2kZ0flSz

173. Jatin puts a pencil into a glass container having
water and is surprised to see the pencil in a different
state.

What change is observed in the appearance of the

pencil?

o Watch Video Solution

174. Jatin puts a pencil into a glass container having
water and is surprised to see the pencil in a different
state.

Name the phenomenon responsible for the change.

o Watch Video Solution



https://dl.doubtnut.com/l/_O5i6dddr7x28
https://dl.doubtnut.com/l/_mgR9zsSAKfjI

175. Jatin puts a pencil into a glass container having
water and is surprised to see the pencil in a different
state.

Draw a ray diagram showing how the eyes saw the

pencil.

° Watch Video Solution

176. State the safe limit of sound level in terms of

decibel for human hearing.

o Watch Video Solution



https://dl.doubtnut.com/l/_mgR9zsSAKfjI
https://dl.doubtnut.com/l/_eDotuiSk5a6E
https://dl.doubtnut.com/l/_zR7c7zQXiPPt
https://dl.doubtnut.com/l/_R7qUDJN0mvjJ

177. Name the characteristic of sound in relation to

its waveform.

° Watch Video Solution

178. A person standing between two vertical cliffs and
480 m from the nearest cliff shouts. He hears the first
echo after 3 s and the second echo 2 s later.

Calculate :

The speed of sound.

° Watch Video Solution



https://dl.doubtnut.com/l/_R7qUDJN0mvjJ
https://dl.doubtnut.com/l/_Dmeb9d8JEwKP

179. A person standing between two vertical cliffs and
480 m from the nearest cliff shouts. He hears the first
echo after 3 s and the second echo 2 s later.

Calculate :

The distance of the other cliff from the person.

o Watch Video Solution

180. In the diagram below, A, B, C, D are four
pendulums suspended from the same elastic string
PQ. The length of A and Care equal to each other
while the length of pendulum B is smaller than that

of D. Pendulum A is set into a mode of vibrations.


https://dl.doubtnut.com/l/_OlC9ol6CIz2G
https://dl.doubtnut.com/l/_O7VPW1xkJYgZ

A L

O QO

Name the type of vibrations taking place in

pendulums B and D?

° Watch Video Solution

181. In the diagram below, A, B, C, D are four
pendulums suspended from the same elastic string
PQ. The length of A and Care equal to each other
while the length of pendulum B is smaller than that

of D. Pendulum A is set into a mode of vibrations.


https://dl.doubtnut.com/l/_O7VPW1xkJYgZ
https://dl.doubtnut.com/l/_ZF4zCtEcQ3fV

g <.q

What is the state of pendulum C?

o Watch Video Solution

182. In the diagram below, A, B, C, D are four
pendulums suspended from the same elastic string
PQ. The length of A and Care equal to each other
while the length of pendulum B is smaller than that

of D. Pendulum A is set into a mode of vibrations.


https://dl.doubtnut.com/l/_ZF4zCtEcQ3fV
https://dl.doubtnut.com/l/_TS1rLHslTmGe

e

State the reason for the type of vibrations in

|
A

pendulums B and C.

° Watch Video Solution

183. Name the device used to increase the voltage at

a generating station.

o Watch Video Solution



https://dl.doubtnut.com/l/_TS1rLHslTmGe
https://dl.doubtnut.com/l/_o20DPgujhD5e
https://dl.doubtnut.com/l/_MNT70MLvwxS4

184. At what frequency is A.C. supplied to residential

houses ?

° Watch Video Solution

185. Name the wire in a household electrical circuit to

which the switch is connected.

° Watch Video Solution

186. The relationship between the potential

difference and the current in a conductor is stated in


https://dl.doubtnut.com/l/_MNT70MLvwxS4
https://dl.doubtnut.com/l/_4x6Dvj3RW7Sy
https://dl.doubtnut.com/l/_i0KjXAO51PTK

the form of a law.

Name the law.

° Watch Video Solution

187. The relationship between the potential difference

and the current in a conductor is stated in the form

of a law.

What does the slope of V-l graph for a conductor

represent?

° Watch Video Solution



https://dl.doubtnut.com/l/_i0KjXAO51PTK
https://dl.doubtnut.com/l/_iTfeKnnKnhZQ

188. The relationship between the potential
difference and the current in a conductor is stated in
the form of a law.

Name the material used for making the connecting

wire.

o Watch Video Solution

189. A cell of emf 2 V and internal resistance 1.212 is
connected with an ammeter of resistance 0.8(2 and
two resistors of 4.5¢2 and 92 as shown in the

diagram below:


https://dl.doubtnut.com/l/_QxKHjA3PMghx
https://dl.doubtnut.com/l/_3GcnnDVMHDnd

-

N b = .
1-2 11 |

=

«/ |

|
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What would be the reading on the Ammeter ?

° Watch Video Solution

190. A cell of emf 2 V and internal resistance 1.212 is
connected with an ammeter of resistance 0.8(2 and
two resistors of 4.5{2 and 92 as shown in the

diagram below:


https://dl.doubtnut.com/l/_3GcnnDVMHDnd
https://dl.doubtnut.com/l/_rJWaO8P2lQfY

What is the potential difference across the terminals

of the cell ?

° Watch Video Solution

191. Name a gas caused by the Greenhouse effect.

o Watch Video Solution



https://dl.doubtnut.com/l/_rJWaO8P2lQfY
https://dl.doubtnut.com/l/_Z2UV30OQGexZ

192. Which property of water makes it an effective

coolant ?

A. latent heat

B. specific heat

C. melting point

D. boiling point

Answer: specific heat

o Watch Video Solution



https://dl.doubtnut.com/l/_oEMCt7I2fzfg

193. Water in lakes and ponds do not freeze at once
in cold countries. Give a reason in support of your

answer.

° Watch Video Solution

194. What is the principle of Calorimetry?

° Watch Video Solution

195. Name the law on which this principle is based.

o Watch Video Solution



https://dl.doubtnut.com/l/_SAswQWtUWCe3
https://dl.doubtnut.com/l/_EeqE3yIyL3nE
https://dl.doubtnut.com/l/_OuXvUc9dnFYS

196. State the effect of an increase of impurities on

the melting point of ice.

° Watch Video Solution

197. A refrigerator converts 100 g of water at 20° C to
ice at —10° C'in 35 minutes.

Calculate the average rate of heat extraction in terms
of watts.

Given : Specific heat capacity of ice =2.1Jg " '°C ~*
Specific heat capacity of water =4.2Jg " 1°C !

Specific Latent heat of fusion of ice = 336.J¢g ~*

o Watch Video Solution



https://dl.doubtnut.com/l/_MJgl7MxJzPeD
https://dl.doubtnut.com/l/_O293kR4Hgsv6

198. Thermionic emissions are related to

o Watch Video Solution

199. Name the unit in which the work function of a

metal is expressed.

° Watch Video Solution

200. Complete the diagram by drawing the deflection

of radioactive radiations in an electric field.


https://dl.doubtnut.com/l/_O293kR4Hgsv6
https://dl.doubtnut.com/l/_4lkMKaoJ4h9F
https://dl.doubtnut.com/l/_OMLMVhbP9y76
https://dl.doubtnut.com/l/_ePKtZwf1bYUd

o Watch Video Solution

201. Mention two important precautions that should

be taken while handling radioactive materials

° Watch Video Solution



https://dl.doubtnut.com/l/_ePKtZwf1bYUd
https://dl.doubtnut.com/l/_XHvszWfFzdnH

202. An atomic nucleus A is composed of 84 protons
and 128 neutrons. The nucleus A emits and alpha
particle and is transformed into a nucleus B.

(i) What is the composition of B ?

(i) The nucleus B emits a beta particle and is
transformed into a nucleus C. What is the
composition of C?

(iii) What is mass number of the nucleus A ?

(iv) Does the composition of C change if it emits

gamma radiations ?

° Watch Video Solution



https://dl.doubtnut.com/l/_721hcbuyi51z

203. An atomic nucleus A is composed of 84 protons
and 128 neutrons. The nucleus A emits and alpha
particle and is transformed into a nucleus B.

(i) What is the composition of B ?

(i) The nucleus B emits a beta particle and is
transformed into a nucleus C. What is the
composition of C?

(iii) What is mass number of the nucleus A ?

(iv) Does the composition of C change if it emits

gamma radiations ?

° Watch Video Solution



https://dl.doubtnut.com/l/_2f35o6NaFnEq

204. An atomic nucleus A is composed of 84 protons
and 128 neutrons.
Does the composition of nucleus C change if it emits

gamma radiations ?

o Watch Video Solution

205. A uniform half metre rule balances horizontally
on a knife edge at 29 cm mark when a weight of 20 gf
is suspended from one end.

Draw a diagram of the arrangement.

o Watch Video Solution



https://dl.doubtnut.com/l/_5yZs6OlCmrnk
https://dl.doubtnut.com/l/_QwkHGgMEny3H
https://dl.doubtnut.com/l/_6jGMxHtb802F

206. A uniform half metre rule balances horizontally
on a knife edge at 29 cm mark when a weight of 20 gf
is suspended from one end.

What is the weight of the half metre rule ?

o Watch Video Solution

207. A boy uses a single fixed pulley to lift a load of 50
kgf to some height. Another boy uses a single
movable pulley to lift the same load to the same
height. Compare the effort applied by them. Give a

reason to support your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_6jGMxHtb802F
https://dl.doubtnut.com/l/_SopXBfhdA3p0

208. How does uniform circular motion differ from

uniform linear motion ?

° Watch Video Solution

209. Name the process used for producing electricity

using nuclear energy.

o Watch Video Solution

210. A pulley system with V.R. = 4 is used to lift a load

of 175 kgf through a vertical height of 15 m. The effort


https://dl.doubtnut.com/l/_SopXBfhdA3p0
https://dl.doubtnut.com/l/_G8HF0lHicpAB
https://dl.doubtnut.com/l/_VzKRhddEfxSf
https://dl.doubtnut.com/l/_VUZaO57Uah20

required is 50 kgf in the downward direction.
(9 = 10Nkg ')
Calculate :

Distance moved by the effort.

o Watch Video Solution

211. A pulley system with V.R. = 4 is used to lift a load
of 175 kgf through a vertical height of 15 m. The effort
required is 50 kgf in the downward direction.
(9 = 10Nkg ')

Calculate :

Work done by the effort.

o Watch Video Solution



https://dl.doubtnut.com/l/_VUZaO57Uah20
https://dl.doubtnut.com/l/_qg2e0Z3CrHXp

212. A pulley system with V.R. = 4 is used to lift a load
of 175 kgf through a vertical height of 15 m. The effort
required is 50 kgf in the downward direction.
(g = 10ng_1)

Calculate :

M.A. of the pulley system.

° Watch Video Solution

213. A pulley system with V.R. = 4 is used to lift a load
of 175 kgf through a vertical height of 15 m. The effort

required is 50 kgf in the downward direction.


https://dl.doubtnut.com/l/_qg2e0Z3CrHXp
https://dl.doubtnut.com/l/_O9OyLwQNfFcn
https://dl.doubtnut.com/l/_DMcZFuAo2j4N

(9 = 10Nkg ')
Calculate :

Efficiency of the pulley system.

° Watch Video Solution

214. How is the transference of heat energy by

radiation prevented in a calorimeter ?

° Watch Video Solution

215. You have a choice of three metals A, B and C, of

specific heat capacities

900Jkg ~'°C 1, 380Jkg 1°C ! and 460Jkg '°C !


https://dl.doubtnut.com/l/_DMcZFuAo2j4N
https://dl.doubtnut.com/l/_UREru1kfFEj0
https://dl.doubtnut.com/l/_BJ6haLQjXq83

respectively, to make a calorimeter. Which material

will you select ? Justify your answer.

° Watch Video Solution

216. Calculate the mass of ice needed to cool 150 g of
water contained in a calorimeter of mass 50 g at 32°

C such that the final temperature is 5° C. Specific heat

1 A

capacity of calorimeter =04 ) g~ o C ™1, specific

heat capacity of water = 4.2 J g '°C ™!, latent

heat capacity of ice =330 ) g .

° Watch Video Solution



https://dl.doubtnut.com/l/_BJ6haLQjXq83
https://dl.doubtnut.com/l/_Ca9NXcBjb7uh

217. Name the radiations which are absorbed by the

green house gases in the earth's atmosphere.

° Watch Video Solution

218. A radiation X is focused by a particular device on
the bulb of a thermometer and mercury in .the
thermometer shows a rapid increase. Name the

radiation X.

° Watch Video Solution



https://dl.doubtnut.com/l/_qhzx40kMm1qN
https://dl.doubtnut.com/l/_TzC8JUYdDKTH

219. Name two factors on which the heat energy

liberated by a body depends.

° Watch Video Solution

220. A lens forms an upright and diminished image of
an object when the object is placed at the focal point
of the given lens.

Name the lens.

° Watch Video Solution



https://dl.doubtnut.com/l/_9XJd3bY9ZY04
https://dl.doubtnut.com/l/_Xv8oc2Oqr7Lj

221. A lens forms an upright and diminished image of
an object when the object is placed at the focal point
of the given lens.

Draw a ray diagram to show the image formation.

o Watch Video Solution

222. A ray of light travels from water to air as shown

in the diagram given below:


https://dl.doubtnut.com/l/_MXaVSPQhQSII
https://dl.doubtnut.com/l/_ypCk2rPowQGg

Water

Copy the diagram and complete the path of the ray.

Given the critical angle for water is 48°.

o Watch Video Solution

223. A ray of light travels from water to air as shown

in the diagram given below:


https://dl.doubtnut.com/l/_ypCk2rPowQGg
https://dl.doubtnut.com/l/_NvnheRgnXSqG

Water
t_t

b = —_— —_— —

State the condition so that total internal reflection

occurs in the above diagram.

° Watch Video Solution

224.The diagram below shows a point source P inside
a water container. Four rays A, B, C, D starting from

the source P are shown up to the water surface.


https://dl.doubtnut.com/l/_NvnheRgnXSqG
https://dl.doubtnut.com/l/_t6uHLDcehyLQ

Adr

Water

Show in the diagram the path of these rays after
striking the water surface. The critical angle for water

air surface is 48°.

° Watch Video Solution

225. The diagram below shows a point source P inside
a water container. Four rays A, B, C, D starting from

the source P are shown up to the water surface.


https://dl.doubtnut.com/l/_t6uHLDcehyLQ
https://dl.doubtnut.com/l/_0UTaUceqHQ21

Water |

Name the phenomenon which the rays B and D

exhibit.

o Watch Video Solution

226. State two physical factors which determine

loudness of sound.

o Watch Video Solution



https://dl.doubtnut.com/l/_0UTaUceqHQ21
https://dl.doubtnut.com/l/_O19BfOXQjyRQ

227. Name the factor that determines :

Quality of the note.

° Watch Video Solution

228. Name the factor that determines :

Pitch of the note.

o Watch Video Solution

229. What are damped vibrations ?

o Watch Video Solution



https://dl.doubtnut.com/l/_o566V0cn6NCX
https://dl.doubtnut.com/l/_R6IpeWoMk9uE
https://dl.doubtnut.com/l/_EVFAFhjp33UT

230. Give examples of damped oscillation.

° Watch Video Solution

231. Name the phenomenon that cause a loud sound
when the stem of a vibration tuning fork is kept

pressed on the surface of a table.

° Watch Video Solution

232. A certain sound has a frequency of 256 hertz and
a wavelength of 1.3 m.

(a) Calculate the speed with which this sound travels.


https://dl.doubtnut.com/l/_tPyjT4aiY0dr
https://dl.doubtnut.com/l/_jyqbZ52Tb2aT
https://dl.doubtnut.com/l/_AiyxN5LCaWjn

(b)What difference would be felt by a listener
between the above sound and another sound
travelling at the same speed, but of wavelength 2.6

m?

o Watch Video Solution

233. Derive a relationship between S.I. and C.G.S. unit

of work.

° Watch Video Solution

234. A Force F acts on a body and displaces it by a

distance S in direction at an angle 6 with the


https://dl.doubtnut.com/l/_AiyxN5LCaWjn
https://dl.doubtnut.com/l/_FHqFVR2whSfS
https://dl.doubtnut.com/l/_CIoDbmCTUGS3

direction of force ,(a) Write the expression for the
work done by the force,(b)What should be the angle
between the force and displacement so that the work

done is (i)zero ,(ii))Maximum ?

o Watch Video Solution

235. A half metre rod is pivoted at the centre with
two weights of 20 gf and 12 gf suspended at a
perpendicular distance of 6 cm and 10 cm from the

pivot respectively as shown below.


https://dl.doubtnut.com/l/_CIoDbmCTUGS3
https://dl.doubtnut.com/l/_z9KFvRKiExGW

Which of the two forces acting on the rigid rod

causes clockwise moment?

° Watch Video Solution

236. A half metre rod is pivoted at the centre with
two weights of 20 gf and 12 gf suspended at a
perpendicular distance of 6 cm and 10 cm from the

pivot respectively as shown below:


https://dl.doubtnut.com/l/_z9KFvRKiExGW
https://dl.doubtnut.com/l/_yGUrhrjQiHKk

- -
i 4 9
» . __us
éam 10 cm

Is the rod in equilibrium ?

° Watch Video Solution

237. A half metre rod is pivoted at the centre with two
weights of 20 gf and 12 gf suspended at a
perpendicular distance of 6 cm and 10 cm from the

pivot respectively as shown below:


https://dl.doubtnut.com/l/_yGUrhrjQiHKk
https://dl.doubtnut.com/l/_Us15tQJmigKH

'
¥

The direction of 20 kgf force is reversed. What is the
magnitude of the resultant moment of the forces on

the rod ?

o Watch Video Solution

238. Draw a diagram to show a block and tackle pulley

system having a velocity ratio of 3 marking the


https://dl.doubtnut.com/l/_Us15tQJmigKH
https://dl.doubtnut.com/l/_sJIXaw1UfOFq

direction of load (L), effort (E) and tension (T).

[ ° Wiak~hh \tAAA CAlLiikiAan


https://dl.doubtnut.com/l/_sJIXaw1UfOFq

& YVOULNILEL VINGY JVIVGIVIE P )

239. A pulley system has a velocity ratio 3. draw a
diagram showing the point of applicationi and
direction of load (L), effort (E) and tension (T). It lifts a
load of 150 N by an effot of 60 N. calculate its
mechanical advantage. Is the pulley system ideal ?

Give reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_sJIXaw1UfOFq
https://dl.doubtnut.com/l/_nHEZbJsa1wgk



https://dl.doubtnut.com/l/_EHVBEs4q8yk9

Is the above pulley system an ideal machine or not ?

o Watch Video Solution

241.
A ray of light XY passes through a right angled
isosceles prism as shown alongside Figure.

(a) What is the angle through which the incident ray


https://dl.doubtnut.com/l/_EHVBEs4q8yk9
https://dl.doubtnut.com/l/_kiODqmy3v13q

deviates and emerges out of the prism?
9b) Name the instrument where this action of prism
is put into use.

(c) Which prism surface will behave as a mirror ?

o Watch Video Solution

242. A ray of light XY passes through a right angled
isosceles prism as shown alongside.

Name the instrument where this action of prism is


https://dl.doubtnut.com/l/_kiODqmy3v13q
https://dl.doubtnut.com/l/_qAUlcpyLxZVg

put into use.

o Watch Video Solution

243. A ray of light XY passes through a right angled

isosceles prism as shown below:


https://dl.doubtnut.com/l/_qAUlcpyLxZVg
https://dl.doubtnut.com/l/_5xaasTOkDDYi

Which prism surface will behave as a mirror ?

o Watch Video Solution

244. An object AB is placed between O and Fi on the
principal axis of a converging lens as shown in the

diagram.


https://dl.doubtnut.com/l/_5xaasTOkDDYi
https://dl.doubtnut.com/l/_VukQzyW3yxmh

Mark is an error by the Council. We suggest you to
use '2F; " instead of "1F}]’ .

Copy the diagram and by using three standard rays
starting from point A, obtain an image of the object

AB.

° Watch Video Solution

245. An object is placed at a distance of 12 cm from a
convex lens of focal length 8 cm. Find :

the position of the image



https://dl.doubtnut.com/l/_VukQzyW3yxmh
https://dl.doubtnut.com/l/_bF82kkCpV8mL

° Watch Video Solution

246. An object is placed at a distance of 12 cm from a
convex lens of focal length 8 cm. Find :

nature of the image

o Watch Video Solution

247. Draw a diagram of a right angled isoscels prism

which is used to make an inverted image erect.

° Watch Video Solution



https://dl.doubtnut.com/l/_bF82kkCpV8mL
https://dl.doubtnut.com/l/_oBvQNw0kXxUO
https://dl.doubtnut.com/l/_Onj4S2j2uiIm

248.The diagram below shows a wire stretched over a
sonometer. Stems of two vibrating tuning forks A and
B are touched in turn to the wooden box of the
sonometer. It is observed that the paper rider (a
small piece of paper folded at the centre) present on
the wire flies off when the stem of vibrating tuning
fork B is touched to the wooden box but the paper
just vibrates when the stem of vibrating tuning fork A

is touched to the wooden box.

Name the phenomenon when the paper rider just

vibrates.

| - |


https://dl.doubtnut.com/l/_uSx7b5Ndjrtz

l &J Watch Video Solution J

—Tr -i Sonameter {:}
L] A L
Paper
richer
10 kg

249,

The diagram above shows a wire stretched over a
sonometer. Stems of two vibrating tuning forks A and
B are touched to the wooden box of the sonometer. It
is observed that the paper rider (a small piece of
paper folded at the centre) present on the wire flies

off when the stem of vibrating tuning fork B is


https://dl.doubtnut.com/l/_uSx7b5Ndjrtz
https://dl.doubtnut.com/l/_6MecOkB0cXb4

touched to the wooden box but the paper just
vibrates when the stem of vibrating tuning fork A is
touched to the wooden box.

Name the phenomenon when the paper rider flies off.

o Watch Video Solution

LR *
Wooden W B AN
ot Sooome O
— \ L=l
Faper
richer
10 kg
Tuning Tuning
Fork & Fork A

250.

The diagram above shows a wire stretched over a


https://dl.doubtnut.com/l/_6MecOkB0cXb4
https://dl.doubtnut.com/l/_XXhNYb20uyac

sonometer. Stems of two vibrating tuning forks A and
B are touched to the wooden box of the sonometer. It
is observed that the paper rider (a small piece of
paper folded at the centre) present on the wire flies
off when the stem of vibrating tuning fork B is
touched to the wooden box but the paper just
vibrates when the stem of vibrating tuning fork A is
touched to the wooden box.

Why does the paper rider fly off when the stem of

tuning fork B is touched to the box ?

° Watch Video Solution



https://dl.doubtnut.com/l/_XXhNYb20uyac

251. A person is standing at the sea shore. An
observer on the ship which is anchored in between a
vertical cliff and the person on the shore fires a gun.
the person on the shore hears two sounds, 2 seconds
and 3 seconds after seeing the smoke of the fired
1

gun. If the speed of sound in the air is 320 ms ™ ",

then calculate:

i
N Mar

[ Dbamrvar
|I Il 5|'1I':I e e
l"_ \ "\L l,."" Seq shore

Water

the distance between the observer on the ship and

the person on the shore.

o Watch Video Solution



https://dl.doubtnut.com/l/_LWgjJ3wy2t8D

252. A person is standing at the sea shore. An
observer on the ship which is anchored in between a
vertical cliff and the person on the shore fires a gun.
the person on the shore hears two sounds, 2 seconds
and 3 seconds after seeing the smoke of the fired
1

gun. If the speed of sound in the air is 320 ms ™ ",

then calculate:

(LN f } oo

the distance between the cliff and the observer on

the ship.

° Watch Video Solution



https://dl.doubtnut.com/l/_MQTYURHEQFbe

253. A fuse is rated 8 A. Can it be used with an

electrical appliance rated 5 kw, 200 V ? Give a reason.

° Watch Video Solution

254. Name two safety devices which are connected to

the live wire of a household electric circuit.

° Watch Video Solution



https://dl.doubtnut.com/l/_F3HBsJhvzhHN
https://dl.doubtnut.com/l/_oiM6RdT9oLiT

255. Find the equivalent resistance between A and B.

A AN
L AN AAAT
| a6 _;I:ﬂ-

° Watch Video Solution

256. State whether the resistivity of a wire changes

with the change in the thickness of the wire.

o Watch Video Solution



https://dl.doubtnut.com/l/_uo2zTz2akpiN
https://dl.doubtnut.com/l/_LzX5A3EdXnmR

257. An electric iron is rated 220V, 2 kW.
If the iron is used for 2 h daily find the cost of

running it for one week if it costs Rs. 4.25 per kwh.

° Watch Video Solution

258. An electric iron is rated at 220V, 2 kw.
Why is the fuse absolutely necessary in a power

circuit?

° Watch Video Solution



https://dl.doubtnut.com/l/_9HT7Odni2f9r
https://dl.doubtnut.com/l/_ddBBZrZmq9MK

259. Heat supplied to a solid changes it into liquid.

What is this change in phase called ?

° Watch Video Solution

260. During the phase change does the average
kinetic energy of the molecules of the substance

increase ?

° Watch Video Solution

261. What is the energy absorbed during the phase

change called ?


https://dl.doubtnut.com/l/_IjKeHr9xSRx8
https://dl.doubtnut.com/l/_mwmpFuyYkA4E
https://dl.doubtnut.com/l/_Bd5Ht9gOV5xU

o Watch Video Solution

262. State two differences between "Heat Capacity"

and "Specific Heat Capacity"

° Watch Video Solution

263. What is the relationship between heat capacity

and specific heat capacity of a substance ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Bd5Ht9gOV5xU
https://dl.doubtnut.com/l/_ZrSrwJ98klGa
https://dl.doubtnut.com/l/_WjTGXnZ8JNCp

264. The temperature of 170 g of water at 50°C is
lowered to 5° C by adding certain amount of ice to it.
Find the mass of ice added. Given : Specific heat
capacity of water =4200 J kg~ ~ o C ~! and specific

latent heat of ice = 336000 J kg ~ .

o Watch Video Solution

265. The diagram shows a coil wound around a U

shape soft iron bar AB.


https://dl.doubtnut.com/l/_xjIdP2sR1cRm
https://dl.doubtnut.com/l/_GlWj1uKAzWBh

What is the polarity induced at the ends A and B

when the switch is pressed ?

o Watch Video Solution

266. The diagram shows a coil wound around a U

shape soft iron bar AB.


https://dl.doubtnut.com/l/_GlWj1uKAzWBh
https://dl.doubtnut.com/l/_O7JV76d9REZ3

AR

- (I EEmTE———
_F

Suggest one way to strengthen the magnetic field in

the electromagnet.

o Watch Video Solution



https://dl.doubtnut.com/l/_O7JV76d9REZ3
https://dl.doubtnut.com/l/_ovjduVKD4tUI

267. The diagram shows a coil wound around a U

shape soft iron bar AB.

What will be the polarities at A and B if the direction

of current is reversed in the circuit ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ovjduVKD4tUI

268. The ore of Uranium found in nature contains
3§8Uandgg5U . Although both the isotopes are
fissionable, it is found out experimentally that one of
the two isotopes is more easily fissionable.

Name the isotope of Uranium which is easily

fissionable

o Watch Video Solution

269. The ore of uranium found in nature contains
92U238 and 92U235. Although both the isotopes are

fissionable, it is found out experimentally that one of


https://dl.doubtnut.com/l/_ovjduVKD4tUI
https://dl.doubtnut.com/l/_EmqjBi2BPCxl
https://dl.doubtnut.com/l/_yfoskBDLNZaR

the two isotopes is more easily fissionable.

Give a reason for your answer.

° Watch Video Solution

270. The ore of uranium found in nature contains
02U and ¢,U?%. Although both the isotopes are
fissionable, it is found out experimentally that one of
the two isotopes is more easily fissionable.

Write a nuclear reaction when Uranium 238 emits an

alpha particle to form a Thorium (Th) nucleus.

° Watch Video Solution



https://dl.doubtnut.com/l/_yfoskBDLNZaR
https://dl.doubtnut.com/l/_q6KG2aVgs5in

271. Radiations given out from a source when
subjected to an electric field in a direction
perpendicular to their path are shown below in the
diagram. The arrows show the path of the radiation
A, B and C. Answer the following question in terms of

A, B and C.

e e



https://dl.doubtnut.com/l/_eMvAWhlA0ZKL

Name the radiation B which is unaffected by the

electrostatic field.

° Watch Video Solution

272. Radiations given out from a source when
subjected to an electric field in a direction
perpendicular to their path are shown below in the
diagram. The arrows show the path of the radiation
A, B and C. Answer the following question in terms of

A, B and C.


https://dl.doubtnut.com/l/_eMvAWhlA0ZKL
https://dl.doubtnut.com/l/_5sugyLFOt4oO

.
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Why does the radiation C deflect more than A?

° Watch Video Solution

273. Radiations given out from a source when
subjected to an electric field in a direction

perpendicular to their path are shown below in the


https://dl.doubtnut.com/l/_5sugyLFOt4oO
https://dl.doubtnut.com/l/_4eL9sz2A57df

diagram. The arrows show the path of the radiation

A, B and C. Answer the following question in terms of

A, B and C.
B
’

Which among the three causes the least biological

damage extremlly?

o Watch Video Solution



https://dl.doubtnut.com/l/_4eL9sz2A57df
https://dl.doubtnut.com/l/_vaRPril37XOG

274. Radiations given out from a source when
subjected to an electric field in a direction
perpendicular to their path are shown below in the
diagram. The arrows show the path of the radiation

A, B and C. Answer the following question in terms of

A B and C.
H
E--. - I |
'-._._' !
)
Hadachee _}
subsiance Bt .
NN

Name the radiation which is used in carbon dating.



https://dl.doubtnut.com/l/_vaRPril37XOG

l @Y Watch Video Solution J

275. The figure below shows a simple pendulum of
mass 200 g. It is displaced from the mean position A
to the extreme position B. The potential energy at
the position A is zero. At the position B the pendulum

bob is raised by 5 m.

(i) What is the potential energy of the pendulum at


https://dl.doubtnut.com/l/_vaRPril37XOG
https://dl.doubtnut.com/l/_SkmVlkuMdYYh

the position B?

(ii) What is the total mechanical energy at point C?
(iii) What is the speed of the bob at the position A
when released from B ?

(Take g = 10ms 2 and there is no loss of energy.)

o Watch Video Solution

276. With reference to the direction of action, how
does a centripetal force differ from a centrifugal

during uniform circular motion ?

° Watch Video Solution



https://dl.doubtnut.com/l/_SkmVlkuMdYYh
https://dl.doubtnut.com/l/_zjYqGEs7bnio

277. Is centrifugal force the force of reaction of

centripetal force ?

° Watch Video Solution

278. Compare the magnitudes of centripetal and

centrifugal force.

° Watch Video Solution

279. A block and tackle system of pulleys has velocity
ratio 4.

Draw a neat labelled diagram of the system


https://dl.doubtnut.com/l/_wmiJl67HHEJV
https://dl.doubtnut.com/l/_K4igql8vzSx0
https://dl.doubtnut.com/l/_6TT568NHPGIT

indicating clearly the points of application and

direction of load and effort.

° Watch Video Solution

280. A block and tackle system of pulleys has velocity
ratio 4.
What will be its V. R. if the weight of the movable

block is doubled ?

° Watch Video Solution

281. A diver in water looks obliquely at an object AB in

air.


https://dl.doubtnut.com/l/_6TT568NHPGIT
https://dl.doubtnut.com/l/_9GkOQSvdMkQh
https://dl.doubtnut.com/l/_NptUIYM0w0zF

I~

. A\Byodlhblw

Does the object appear taller, shorter or of the same

size to the diver?

° Watch Video Solution

282. A diver in water looks obliquely at an object AB in

air.

ar A

A

. &Byoe(lhblw

Show the path of two rays AC and AD starting from


https://dl.doubtnut.com/l/_NptUIYM0w0zF
https://dl.doubtnut.com/l/_rCBNoNbcS8NC

the tip of the object as it travels towards the diver in

water and hence obtain the image of the object.

° Watch Video Solution

283. Complete the path of the ray AB through the

glass prism in PQR till it emerges out of the prism.


https://dl.doubtnut.com/l/_rCBNoNbcS8NC
https://dl.doubtnut.com/l/_p7b3qwZBg0lp

Given the critical angle of the glass as 42°.

° Watch Video Solution



https://dl.doubtnut.com/l/_p7b3qwZBg0lp

284. A lens of focal length 20 cm forms an inverted
image at a distance 60 cm from the lens.

(i) Identify the lens.

(ii) How far is the lens present in front of the object ?

(iii) Calculate the magnification of the image.

o Watch Video Solution

285. Give reasons for the following:
During the day::

Clouds appear white.

° Watch Video Solution



https://dl.doubtnut.com/l/_Byarsj5XBgTR
https://dl.doubtnut.com/l/_ngnXYMtQ83n5
https://dl.doubtnut.com/l/_X7CnYI9zt0F8

286. Give reasons for the following:
During the day::

Sky appears blue.

o Watch Video Solution

287. Name the system which enables us to locate
underwater objects by transmitting ultrasonic waves

and detecting the reflecting impulse.

o Watch Video Solution



https://dl.doubtnut.com/l/_X7CnYI9zt0F8
https://dl.doubtnut.com/l/_bdNtcziDVpnm

288. What are acoustically measurable quantities

related to pitch and loudness ?

° Watch Video Solution

289. When a tuning fork (vibrating) is held close to
ear, one hears a faint hum. The same (vibrating
tuning fork) is held such that its stem is in contact
with the table surface, then one hears a loud sound.

Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_LgEe8O6oWkxN
https://dl.doubtnut.com/l/_ErMYUPW6R61v

290. A man standing in front of a vertical cliff fires a
gun. He hears the echo after 3.5 seconds. On moving
closer to the cliff by 84 m, he hears the echo after 3
seconds. Calculate the distance of the cliff from the

initial position of the man.

o Watch Video Solution

291. The diagram below shows the core of a

transformer and its input and output connections.

Core
Input
ok o

State the material used for the core.


https://dl.doubtnut.com/l/_RIwVauxuF8oi
https://dl.doubtnut.com/l/_kJye5JLRF1Sz

o Watch Video Solution

292. The diagram below shows the core of a

transformer and its input and output connections.

Core

SR -
Input
S e

Copy and complete the diagram of the transformer

by drawing input and output coils.

° Watch Video Solution

293. Superconductors are:



https://dl.doubtnut.com/l/_kJye5JLRF1Sz
https://dl.doubtnut.com/l/_LbmYG9isJaNL
https://dl.doubtnut.com/l/_i1GJAX1aKTd7

[ W Watch Video Solution J

294. Calculate the current drawn by an appliance

rated 110 W, 220 V when connected across 220 V

supply.

° Watch Video Solution

295. Name a substance whose resistance decreases

with the increase in temperature.

° Watch Video Solution



https://dl.doubtnut.com/l/_i1GJAX1aKTd7
https://dl.doubtnut.com/l/_tnJR1tDVqIDo
https://dl.doubtnut.com/l/_6od8Dclq5mnx

in

40
150 — VWV —
——AW—
03AA
et I
206. 'l.l\'.r

The diagram above shows three resistors connected
across a cell of emf. 1.8 V and internal resistance r.
Calculate :

Current through 3(2 resistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_cNPOmdxXoaM2

in

—— VWV 40
150 r—w—
—A—]
03AA
/\ g:
207. 18V, r

The diagram above shows three resistors connected
across a cell of emf. 1.8 V and internal resistance r.
Calculate :

The internal resistancer.

° Watch Video Solution

298. Define heat capacity of a substance.

o Watch Video Solution



https://dl.doubtnut.com/l/_6uWypoeqmBqZ
https://dl.doubtnut.com/l/_8h6w0t0WSdQO

1. The diagram below shows a claw hammer used to

remove a nail :

Claw hammer

» Nl

(i) To which class of lever does it belong?
(ii) Give one more example of the same class of lever
mentioned by you in (i) for which the mechanical

advantage is greater than one.

° Watch Video Solution



https://dl.doubtnut.com/l/_PK1RlqiQ94kn

2. Two bodies A and B have masses in the ratio 5 : 1
and their kinetic energies are in the ratio 125 : 9. Find

the ratio of their velocities.

o Watch Video Solution

3. Name the physical quantity which is measured in
calorieHow is it related to the S.. unit of that

quantity?

o Watch Video Solution



https://dl.doubtnut.com/l/_PK1RlqiQ94kn
https://dl.doubtnut.com/l/_fcD2QCLq5yfI
https://dl.doubtnut.com/l/_8BSk3nRRQA89

4. Name the physical quantity which is measured in
calorieHow is it related to the S.. unit of that

quantity?

o Watch Video Solution

5. Define couple.

° Watch Video Solution

6. State the S.I. unit of moment of couple.

o Watch Video Solution



https://dl.doubtnut.com/l/_lncWOFMTc4hl
https://dl.doubtnut.com/l/_A8bwxYyV05S5
https://dl.doubtnut.com/l/_Zvq278Rbi1Za

7. Define critical angle. How does it depend on the

wavelength of incident light?

° Watch Video Solution

8. State one important factor which affects the

critical angle of a given medium.

° Watch Video Solution

9. An electromagnetic radiation is used for
photography in fog.

Identify the radiation.


https://dl.doubtnut.com/l/_0bD91WwXbWJf
https://dl.doubtnut.com/l/_NDk0wHpbA7Im
https://dl.doubtnut.com/l/_xgSVpJJMhJOL

o Watch Video Solution

10. An electromagnetic radiation is wused for
photography in fog.
Why is this radiation mentioned by you, ideal for this

purpose ?

o Watch Video Solution

11. What is the relation between the refractive index
of water with respect to air (,u,,) and the refractive

index of air with respect to water ().

o Watch Video Solution



https://dl.doubtnut.com/l/_xgSVpJJMhJOL
https://dl.doubtnut.com/l/_BgcdFqEOW3xz
https://dl.doubtnut.com/l/_RNyVKBK7210S

12. If the refractive index of water with respect to air

(ofte) is 3" Calculate the refractive index of air with

respect to water (/).

o Watch Video Solution

13. The specific heat capacity of a substance A is
3,800Jkg 'K ! and that of a substance B is
400Jkg_1K_1. Which of the two substances is a
good conductor of heat ? Give a reason for your

answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_RNyVKBK7210S
https://dl.doubtnut.com/l/_f3BwfQBgS97n
https://dl.doubtnut.com/l/_MlmHw2asvCcy

14. A man playing a flute is able to produce notes of
different frequencies. If he closes the holes near his
mouth, will the pitch of the note produced, increase

or decrease ? Give a reason.

° Watch Video Solution

15. The diagram alongside shows a light source P
embedded in a rectangular glass block ABCD of

critical angle 42°. Complete the path of the ray PQ till


https://dl.doubtnut.com/l/_MlmHw2asvCcy
https://dl.doubtnut.com/l/_HgGs7rBc5DmL
https://dl.doubtnut.com/l/_W0rYzS4c6dKO

it emerges out of the block. [Write necessary angles ]

8 Q c
e

o Watch Video Solution

16. If the lens is placed in water instead of air, how

does its focal length change?

° Watch Video Solution



https://dl.doubtnut.com/l/_W0rYzS4c6dKO
https://dl.doubtnut.com/l/_sC4mmS1I99mI

17. Which lens, thick or thin has greater focal length?

° Watch Video Solution

18. Two waves of the same pitch have amplitudes in
the ratio 1: 3. What will be the ratio of their:

intensities and

° Watch Video Solution

19. Two waves of the same pitch have amplitudes in
the ratio 1: 3. What will be the ratio of their:

frequencies?


https://dl.doubtnut.com/l/_0BYfzgDVNVQA
https://dl.doubtnut.com/l/_j19nU8D37B1D
https://dl.doubtnut.com/l/_xxWKYRCSIIee

A 1:9

B. 9:1

C. 111

D. no change

Answer: no change

° Watch Video Solution

20. How does an increase in the temperature affect
the specific resistance of a :

Metal and

o Watch Video Solution



https://dl.doubtnut.com/l/_xxWKYRCSIIee
https://dl.doubtnut.com/l/_GhneN8g112RF

21. How does an increase in the temperature affect
the specific resistance of a :

Semiconductor ?

° Watch Video Solution

22. State two differences between the forced and

resonant vibrations.

° Watch Video Solution



https://dl.doubtnut.com/l/_GhneN8g112RF
https://dl.doubtnut.com/l/_wUydzQCmZAIz
https://dl.doubtnut.com/l/_UK86ZIfQhyPU

23. Which characteristic of sound, makes it possible

to recognize a person by his voice without seeing him

?

° Watch Video Solution

24.1s it possible for a hydrogen (%H) nucleus to emit

an alpha particle ? Give a reason for your answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_t4EOIawc1Gii
https://dl.doubtnut.com/l/_7pCL51d2deeE

25. Calculate the effective resistance across AB :

S0 i@

1

° Watch Video Solution

26. State whether the specific heat capacity of a
substance remains the same when its state changes

from solid to liquid.

o Watch Video Solution



https://dl.doubtnut.com/l/_ccrfEgHQe90e
https://dl.doubtnut.com/l/_mLMQCKb2Fdu4
https://dl.doubtnut.com/l/_AzZHi5I5PIR8

27. Give one example to support your answer.

o View Text Solution

28. A magnet kept at the centre of two coils Aand B is
moved to and fro as shown in the diagram. The two

galvanometers show deflection.


https://dl.doubtnut.com/l/_AzZHi5I5PIR8
https://dl.doubtnut.com/l/_PAPQhioq64Pk

N

4
I,
WANINII O

T —"

Load

State with a reason whether :
r >y

or x < y.[xand y are magnitudes of deflection]

o Watch Video Solution



https://dl.doubtnut.com/l/_PAPQhioq64Pk

29. Why is a nuclear fusion reaction called a thermo

nuclear reaction ?

° Watch Video Solution

30. State two ways to increase the speed of rotation

of a D.C. motor.

o Watch Video Solution



https://dl.doubtnut.com/l/_PAPQhioq64Pk
https://dl.doubtnut.com/l/_G8Qn37jZplvz
https://dl.doubtnut.com/l/_Im0MwpWQA2KL

1. A body of mass 10 kg is kept at a height of 5 m. It is
allowed to fall and reach the ground.

What is the total mechanical energy possessed by the
body at the height of 2 m assuming it is a frictionless

medium ?

o Watch Video Solution

2. A body of mass 10 kg is kept at a height of 5 m. It is
allowed to fall and reach the ground.
What is the kinetic energy possessed by the body just

before hitting the ground? (Take g = 10m / s?).

o Watch Video Solution



https://dl.doubtnut.com/l/_U0ELSVPnuPSQ
https://dl.doubtnut.com/l/_q8AATEg0LWhI

3. A uniform meter scale is in equilibrium as shown in
the diagram : Calculate the weight of the meter scale.
(i) Which of the following options is correct to keep
the ruler in equilibrium when 40 gf wt is shifted to O
cm mark?

F is shifted towards O cm.

Or

F is shifted towards 100 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_q8AATEg0LWhI
https://dl.doubtnut.com/l/_Ag45XBKfjfQ4

4.The diagram below shows a pulley arrangemnet :

(i) Copy the diagram and mark the direction of
tension on each strand of the string.

(ii) What is the velocity ratio of the arrangement ?

(iii) If the tension acting on the string is T, then what
is the relationship between T and effort E ?

(iv) If the free end of the string moves through a
distance x, find the distance by which the load is

raised.

o Watch Video Solution



https://dl.doubtnut.com/l/_owzcYxuSGk8n

5. How does the angle of deviation formed by a prism
change with the increase in the angle of incidence ?

Draw a graph showing the variation in the angle of
deviation with the angle of incidence at a prism

surface.

o Watch Video Solution

6. A virtual, diminished image is formed when an
object is placed between the optical centre and the
principal focus of a lens.

Name the type of lens which forms the above image.

A. convex


https://dl.doubtnut.com/l/_PzAQ17Bg4VcR
https://dl.doubtnut.com/l/_lNHbqY1mhYLe

B. concave

C. both

D. none

Answer: concave

o Watch Video Solution

7. A virtual, diminished image is formed when an
object is placed between the optical centre and the
principal focus of a lens.

Draw a ray diagram to show the formation of the

image with the above stated characteristics.

e


https://dl.doubtnut.com/l/_lNHbqY1mhYLe
https://dl.doubtnut.com/l/_YESzTxfaAz7L

| ¥ vvatch viaeo Solution ]

8. An object is placed at a distance 24 cm in front of a
convex lens of focal length 8 cm.

(i) What is the nature of the image so formed ?

(i) Calculate the distance of the image from the lens.

(iii) Calculate the magnification of the image.

° Watch Video Solution

9. It is observed that during march-past we hear a
base drum distinctly from a distance compared to the

side drums.


https://dl.doubtnut.com/l/_YESzTxfaAz7L
https://dl.doubtnut.com/l/_DDaMSXs8h5wX
https://dl.doubtnut.com/l/_0beoO3384GP2

Name the characteristics of sound associated with

the above observation.

° Watch Video Solution

10. It is observed that the temperature of the
surroundings starts falling when the ice in a frozen

lake starts melting. Give a reason for the observation.

° Watch Video Solution

11. A pendulum has a frequency of 4 vibrations per
second. An observer starts the pendulum and fires a

gun simultaneously. He hears the echo from the cliff


https://dl.doubtnut.com/l/_0beoO3384GP2
https://dl.doubtnut.com/l/_K6wDJIqZG9JJ
https://dl.doubtnut.com/l/_FuX94MdL6xdv

after 6 vibrations of the pendulum. If the velocity of
sound in air is 340 m/s, find the distance between the

cliff and the observer.

° Watch Video Solution

12. Two pendulums C and D suspended from a wire as
shown in the figure given below. Pendulum C is made
to oscillate by displacing it from its mean position. It

is seen that D also starts oscillating.


https://dl.doubtnut.com/l/_FuX94MdL6xdv
https://dl.doubtnut.com/l/_Sj27caF0emBo

|
C l ~—

(i) Name the type of oscillation, C will execute.

(i) Name the type of oscillation, D will execute.

(iii) If the length of D is made equal to C then what
difference will you notice in the oscillations of D?

(iv) What is the name of the phenomenon when the

length of D is made equal to C?

o Watch Video Solution



https://dl.doubtnut.com/l/_Sj27caF0emBo

13. Write one advantage of connecting electrical

appliances in parallel combination.

° Watch Video Solution

14. What characteristics should a fuse wire have?

A. high melting point, high specific resistance

B. low melting point, low specific resistance

C. high melting point, low specific resistance

D. low melting point, high specific resistance

Answer: low melting point, high specific resistance

r B


https://dl.doubtnut.com/l/_3dxJVuHjjHHP
https://dl.doubtnut.com/l/_SgmtFn2hAdIp

‘ o Watch Video Solution

15. Which wire in a power circuit is connected to the

metallic body of the appliance ?

o Watch Video Solution

16. The diagram below shows a dual control switch

circuit connected to a bulb.

= Uik t==4
I |

ot Lo

.. e —



https://dl.doubtnut.com/l/_SgmtFn2hAdIp
https://dl.doubtnut.com/l/_JS4MUORK0uZk
https://dl.doubtnut.com/l/_F1PdfZgRdXE2

Copy the diagram and complete it so that the bulb is

switched ON.

° Watch Video Solution

17. The diagram below shows a dual control switch

circuit connected to a bulb.

p— v =
A

e =

+©

: =

Out of A and B which one is the live wire and which

one is the neutral wire ?

s


https://dl.doubtnut.com/l/_F1PdfZgRdXE2
https://dl.doubtnut.com/l/_vogE5JeKHY5l

l o \Watch Viaeo Solution J

18. The diagram alongside shows a circuit with the

key k open. Calculate :

2o . i@
e A e A AR e
Sno

AN
-
HMvosa

the resistance of the circuit when the key k is open.

o Watch Video Solution



https://dl.doubtnut.com/l/_vogE5JeKHY5l
https://dl.doubtnut.com/l/_X7jYGwFWOiBb

19. The diagram alongside shows a circuit with the

key k open. Calculate :

gt . 1@
— AR AARS
4u
A

i

v odo

the current drawn from the cell when the key k is

open.

o Watch Video Solution



https://dl.doubtnut.com/l/_GStPK6DhIoOC

o e s L ,_b_ _t — n
w -
MWW
-
3,050

20.
The diagram above shows a circuit with the key k
open. Calculate :

the resistance of the circuit when the key k is closed.

o Watch Video Solution



https://dl.doubtnut.com/l/_KERi5nQ8UJAL

Jq._
] v
21. V.00 & )

The diagram above shows a circuit with the key k
open. Calculate :
the current drawn from the cell when the key k is

closed.

° Watch Video Solution

22. Define Calorimetry.

o Watch Video Solution



https://dl.doubtnut.com/l/_7F2yMJePvHca
https://dl.doubtnut.com/l/_YvkB9eJaN7hZ

23. Name the material used for making a Calorimeter.

° Watch Video Solution

24. Why is a Calorimeter made up of thin sheets of

the above material.

o Watch Video Solution

25. The melting point of naphthalene is 80°C and
the room temperature is 30°C. A sample of liquid

naphthalene at 100° C is cooled down to the room


https://dl.doubtnut.com/l/_YvkB9eJaN7hZ
https://dl.doubtnut.com/l/_WdCyRu3bQeD1
https://dl.doubtnut.com/l/_us6eNIKEkY7q
https://dl.doubtnut.com/l/_0mYcmrpnoLCD

temperature. Draw a temperature time graph to
represent this cooling. In the graph, mark the region

which corresponds to the freezing process.

o Watch Video Solution

26. 104 g of water at 30°C is taken in a calorimeter
made of copper of mass 42 g. When a certain mass of
ice at 0°C is added to it, the final steady temperature
of the mixture after the ice has melted, was found to
be 10°C. Find the mass of ice added. [Specific heat
capacity of water = 42 ) g 1°C !, Specific latent
heat of fusion of ice =336 ) g ~ !, Specific heat capacity

of copper = 0.4Jg 1°C ~1].



https://dl.doubtnut.com/l/_0mYcmrpnoLCD
https://dl.doubtnut.com/l/_1fcpu2bkdH5z

l ° Watch Video Solution

27.Draw a neat labelled diagram of an A.C. generator.

o Watch Video Solution

28. Define nuclear fission.

° Watch Video Solution

29. Rewrite and complete the following nuclear

reaction by filling in the atomic number of Ba and


https://dl.doubtnut.com/l/_1fcpu2bkdH5z
https://dl.doubtnut.com/l/_KUZpkgImM06l
https://dl.doubtnut.com/l/_EDDLVym6MT8P
https://dl.doubtnut.com/l/_6oM76q14idl5

mass number of Kr :

25U + in — M Ba + ;K7 + 3tn + Energy

° Watch Video Solution

30. The diagram below shows a magnetic needle kept
just below the conductor AB which is kept in North

South direction.

A ]

1
-~ B

e

In which direction will the needle deflect when the

key is closed ?

[ ° Wilatk A \NtdAAA CAlLiidkiAan



https://dl.doubtnut.com/l/_6oM76q14idl5
https://dl.doubtnut.com/l/_JxtE0tF5Msb9

[ § YVULLIL VIMGY JVIVLGIVIE J

31. The diagram below shows a magnetic needle kept
just below the conductor AB which is kept in North

South direction.

"
'
- ®

Why is the deflection produced ?

o Watch Video Solution



https://dl.doubtnut.com/l/_JxtE0tF5Msb9
https://dl.doubtnut.com/l/_ta6HXYpuBRLY

32.The diagram below shows a magnetic needle kept
just below the conductor AB which is kept in North

South direction.

=
am

What will be the change in the deflection of the

magnetic needle is taken just above the conductor AB

?

o Watch Video Solution



https://dl.doubtnut.com/l/_vCpFuPzZPF06

33. The diagram below shows a magnetic needle kept
just below the conductor AB which is kept in North

South direction.

A
- W

—l—l'
FaN

[ )]

"
:I' /.

Name one device which works on this principle.

o Watch Video Solution

Multiple Choice Questions


https://dl.doubtnut.com/l/_uH2w9sBSprXf

1. A physical change that a particular individual

undergoes may be termed as:

A. Growth

B. Development

C. Progress

D. Improvement

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_I6dJKA8rlxCu

2. Which of the below stages is called as a "Period of

storm & stress"?

A. Childhood

B. Adulthood

C. Adolescence

D. Infancy

Answer: C

o View Text Solution

3. Physical development involves :


https://dl.doubtnut.com/l/_RdorlibPGB8E
https://dl.doubtnut.com/l/_UbELvCQOWfcz

A.The growth of a child's ability to think and

reason

B. Being able to speak in full sentences and have

quite a good vocabulary.

C. Eating ice cream with chop sticks.

D. Physical development involves developing

control over the body, particularly muscles and

physical

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_UbELvCQOWfcz
https://dl.doubtnut.com/l/_sh3qjg6GLlIG

4. Choose the best definition of gross motor skills.

A. Gross motor skills involve developing the ability

to be able to think about things that happen to

you.

B. Gross motor skills are those which require

whole body movement, and which involve the

large muscles of the body to perform everyday

functions, such as standing walking, running

C.Gross motor skilis involve the ability to

understand your emotions and feelings.


https://dl.doubtnut.com/l/_sh3qjg6GLlIG

D. Gross motor skills involve the development of

the ability to use scissors accurately.

Answer: B

o View Text Solution

5. Locomotor skills include:

A. The ability to sleep for 8 hours

B. Walking, running and hopping

C. Sharing and tum taking

D. Eating and pencil control


https://dl.doubtnut.com/l/_sh3qjg6GLlIG
https://dl.doubtnut.com/l/_d4QSd7TMJkFJ

Answer: B

° View Text Solution

6. Which among these is a not a factor that influences

growth and development?

A. Hereditary

B. Nutrition

C. Lifestyle

D. Environmental

Answer: C

[ @S View Text Solution ]


https://dl.doubtnut.com/l/_d4QSd7TMJkFJ
https://dl.doubtnut.com/l/_mUEnMboStskt

7.The ability to use SMALL muscle groups is known as

_motor skills.

A. Gross

B. Moral

C.Fine

D. Social

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_mUEnMboStskt
https://dl.doubtnut.com/l/_XJapeJsn4QU6
https://dl.doubtnut.com/l/_huVpwaixwh33

8. The number of times you exercise each week:

A. Frequency

B. Frequent

C. Training Schedule

D. Time

Answer: A

o View Text Solution

9. How hard the exercise is?

A. Intensity


https://dl.doubtnut.com/l/_huVpwaixwh33
https://dl.doubtnut.com/l/_Vtwy14py6HLF

B. Overload

C. Difficulty

D. Type

Answer: A

o View Text Solution

10. Focusing training on activities and exercises

relevant to an individual's sporting goals and needs:

A. Specificity

B. Variation


https://dl.doubtnut.com/l/_Vtwy14py6HLF
https://dl.doubtnut.com/l/_toSQGbGok81I

C. Adaptation

D. Type

Answer: A

o View Text Solution

11. Training at an appropriate intensity and gradually

increasing the amount of stress placed on the body:

A. Progressive Overload

B. Adaptation

C. Intensity


https://dl.doubtnut.com/l/_toSQGbGok81I
https://dl.doubtnut.com/l/_b9xUF9Qdu04t

D. Type

Answer: A

o View Text Solution

12. By ensuring that you progressively overload your

body you encourage it to adapt to new stresses

being placed upon it

A. Adaptation

B. Variation

C. Intensity

D. Specificity


https://dl.doubtnut.com/l/_b9xUF9Qdu04t
https://dl.doubtnut.com/l/_gVSq8lJLZNZt

Answer: A

° View Text Solution

13. Simon is 43 years old. Calculate his max heart rate.

A. 220-43=177

B. 200-43=157

C. 230-43=187

D. 220-53=167

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_gVSq8lJLZNZt
https://dl.doubtnut.com/l/_mXq2Oy2FDYiL

14. Changes that occur in an individual's personality,
emotions, and relationships with others refer to

development.

A. Biological

B. Physical

C. Cognitive

D. Socio-emotional

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_mXq2Oy2FDYiL
https://dl.doubtnut.com/l/_F6MR6nCxNv9p
https://dl.doubtnut.com/l/_AdO0rcRXdsDC

15. What component would be the most important to

a long-distance runner?

A. Reaction time

B. Cardiovascular endurance

C. Agility

D. Muscular strength

Answer: B

o View Text Solution

16. The push-up test measures


https://dl.doubtnut.com/l/_AdO0rcRXdsDC
https://dl.doubtnut.com/l/_LeFO2TKwwI6e

A. Flexibility

B. Cardiovascular Endurance

C. Body Composition

D. Muscular Endurance and Muscle Strength

Answer: D

° View Text Solution

17. Skill component that describes the ability to
stabilise or control the body while standing or

moving

A. Agility


https://dl.doubtnut.com/l/_LeFO2TKwwI6e
https://dl.doubtnut.com/l/_362X1lW7fphi

B. Speed

C.Balance

D. Reaction time

Answer: C

o View Text Solution

18. What skill component describes the amount of

force you can create when performing a task?

A. Speed

B. Power


https://dl.doubtnut.com/l/_362X1lW7fphi
https://dl.doubtnut.com/l/_O7QSxoS8IX6a

C. Balance

D. Coordination

Answer: B

° View Text Solution

19. What do we call physical activity done to keep the

body fit and healthy?

A. Program

B. Flexibility

C. Endurance


https://dl.doubtnut.com/l/_O7QSxoS8IX6a
https://dl.doubtnut.com/l/_114F84VX19dH

D. Exercise

Answer: D

° View Text Solution

20. What is an advantage to exercise?

A. Improves quality of life

B. Decreases chronic disease

C. Stress relief

D. All of these

Answer: D


https://dl.doubtnut.com/l/_114F84VX19dH
https://dl.doubtnut.com/l/_4eP7AcKZJCks

o View Text Solution

21. What type of exercise is more appropriate in the

cool down as they help the muscles to relax?

A. Static stretching

B. Strength exercise

C. Dynamic stretching

D. Endurance exercise

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_4eP7AcKZJCks
https://dl.doubtnut.com/l/_mAvr1Kt8nuyR
https://dl.doubtnut.com/l/_x1TFXMEcaigM

22. What is the correct sequence of an exercise

program?

A. Cool down, warm up, work out

B. Work out, cool down, warn up

C. Work out, warm up, cool down

D. Warm up, work out, cool down

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_x1TFXMEcaigM

23. What principles of exercise state that we are

unique to each other in terms of fitness level, fitness

goals, and nutritional preferences?

A. Specificity

B. Adaptation

C. Individuality

D. Progression

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_O60Ci4bNDIli

24. This is an instructional program that gives

attention to the development and care of the body.

A. Physical Education

B. Physical Development

C. Physical Fitness

D. Physical Curriculum

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_25LSfOWqgUcO

25. This development can be acquired through
physical education when someone acquires positive
traits such as confidence, discipline, courage and
perseverance.

A. Emotional Development

B. Mental Development

C. Physical Development

D. Social Development

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_uF9ISThOKNwp
https://dl.doubtnut.com/l/_NiB4AKBfmXhf

26. What is flexibility?

A.The ability to maintain centre of mass over a

base of support

B. The ability to move a joint fluidly through its

complete range of motion

C.The maximum amount of force that can be

generated by a muscle or muscle group

D.The ability to quickly and precisely move or

change direction without losing balance or

time

Answer: B


https://dl.doubtnut.com/l/_NiB4AKBfmXhf

o View Text Solution

27. An immediate and temporary care given to a

person who has been injured or suddenly taken ill.

A. Moral Support

B. Therapy

C. First Aid

D. Exercise

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_NiB4AKBfmXhf
https://dl.doubtnut.com/l/_2xKq87etoEuy
https://dl.doubtnut.com/l/_3eL4jK7lP2E6

28. When the two bones that come together to form

a joint become separated, the joint is described as

A. Dislocated

B. Fractured

C. Sprained

D. Strained

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_3eL4jK7lP2E6

29. The "E" in the RICE method is

A. Enquire

B. Emergency

C. Elongate

D. Elevate

Answer: D

o View Text Solution

30. What does aerobic mean?


https://dl.doubtnut.com/l/_f7tFnUnmnm0K
https://dl.doubtnut.com/l/_cwVrkx8WDuiv

A. Without oxygen

B. With oxygen

C. Bows and arrows

D. None of these

Answer: B

° View Text Solution

31. What is reaction time?

A. The time taken to respond to a stimulus.


https://dl.doubtnut.com/l/_cwVrkx8WDuiv
https://dl.doubtnut.com/l/_7QdIB4V5CzIy

B. The ability to perform strength performances

quickly

C.The ability to put body parts into motion

quickly.

D.The ability to use two or more body parts

together.

Answer: A

° View Text Solution

32. Ideal choice of sport for Endomorphs can be


https://dl.doubtnut.com/l/_7QdIB4V5CzIy
https://dl.doubtnut.com/l/_NMBifJbXrKQO

A. Weightlifting

B. Marathon running

C.Long Jump

D. High Jump

Answer: A

° View Text Solution

33. Which of the following is not a body type?

A. Ectomorph

B. Mesomorph


https://dl.doubtnut.com/l/_NMBifJbXrKQO
https://dl.doubtnut.com/l/_st8Y5ArfrOwF

C. Hectomorph

D. Endomorph

Answer: C

o View Text Solution

34.What is a somatotype?

A. The size of your foot

B. A bunch of tomatoes

C. Classifying a body type

D. How you play sport


https://dl.doubtnut.com/l/_st8Y5ArfrOwF
https://dl.doubtnut.com/l/_cSLAvRNPThVj

Answer: C

o View Text Solution

35. This body type typically has narrow shoulders,

chest, hips, and abdomen.

A. Ectomorph

B. Mesomorph

C. Hectomorph

D. Endomorph

Answer: A

.y


https://dl.doubtnut.com/l/_cSLAvRNPThVj
https://dl.doubtnut.com/l/_MS53LhFLu6IO

l o VIew j1ext >olution

36. Mesomorph's are

A. Hard muscular body

B. Delicate built

C. Lightly muscled

D. Round shape

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_MS53LhFLu6IO
https://dl.doubtnut.com/l/_0qKO9OcwtGXN

37. What is the reason for a warm up?

A. To increase likelihood of injuries

B. To decrease muscle temperature

C. To burn more calories

D.To increase heart rate and blood flow to

muscles

Answer: D

° View Text Solution

38. Which of the following is not a soft tissues?


https://dl.doubtnut.com/l/_mC4GLVvk36Fi
https://dl.doubtnut.com/l/_T2ZelhdSOHFl

A. Ligaments

B. Skin

C.Bone

D. Muscle

Answer: C

° View Text Solution

39. Overload in sports training relates to when:

A.the oxygen is adequate to supply the need of

the body.


https://dl.doubtnut.com/l/_T2ZelhdSOHFl
https://dl.doubtnut.com/l/_fXOfu1Dgmdjp

B. the oxygen supplying mechanisms are not able

to increase.

C. the intake of oxygen is insufficient to meet the

demand.

D. the supply of oxygen is more than required.

Answer: C

o View Text Solution

40. The definite general purpose of leading towards

the aim are generally known as:


https://dl.doubtnut.com/l/_fXOfu1Dgmdjp
https://dl.doubtnut.com/l/_EeCLb0VGeCZ1

A. Target

B. Goals

C. Objectives

D. Motives

Answer: C

° View Text Solution

41. Major Aim of Physical Education is to ensure a/an:

A. child's optimum physical development.

B. programme of activity and sports for all.


https://dl.doubtnut.com/l/_EeCLb0VGeCZ1
https://dl.doubtnut.com/l/_KdacGNQwiCs4

C. all-round development of the individual.

D. complete removal of boredom of the class-

room activity.

Answer: C

o View Text Solution

42. A good muscle tone is highly related to:

A. reflex time

B. movement time

C.transmission time


https://dl.doubtnut.com/l/_KdacGNQwiCs4
https://dl.doubtnut.com/l/_qIfhsMpzTsi7

D. reaction time

Answer: D

° View Text Solution

43. Which of the following is not an objective of

sports training?

A.To  accelerate athlete's growth and

development

B. To make athlete dream about winning only


https://dl.doubtnut.com/l/_qIfhsMpzTsi7
https://dl.doubtnut.com/l/_c4kzM8TE9oGg

C.To bring about change in athlete's attitude,

habits and behaviour

D.To make the athlete highly skillful technically

and tactically

Answer: B

° View Text Solution

44.What does cruciate mean?

A. To cross

B. To separate


https://dl.doubtnut.com/l/_c4kzM8TE9oGg
https://dl.doubtnut.com/l/_5V8VtbZjg9Vm

C.To join at an intersection

D. To collide

Answer: A

o View Text Solution

45. An important piece of equipment to help prevent

concussion and damage to the mouth.

A. Helmet with no face shield

B. Face shield

C. Gumshield


https://dl.doubtnut.com/l/_5V8VtbZjg9Vm
https://dl.doubtnut.com/l/_OADlFkFTtdIJ

D. Shin pads

Answer: C

o View Text Solution

46. The ligament that is most commonly injured when
your foot is planted and your body is rotating around

your leg-a rotation injuryis

A. ACL

B. PCL

C. MCL

D. LCL


https://dl.doubtnut.com/l/_OADlFkFTtdIJ
https://dl.doubtnut.com/l/_rRFSRqiQzZQ6

Answer: A

° View Text Solution

47. What treatment should you not use immediately

after an injury, such as an ankle sprain?

A. Rest

B. Ice

C. Compression

D. Heat

Answer: D

.y l


https://dl.doubtnut.com/l/_rRFSRqiQzZQ6
https://dl.doubtnut.com/l/_4XnI323TftwC

| ¥ VIEW IE€XL Solution ]

48. Which of the following is not a common knee

injury?

A. Runners Knee

B. Cruciate Ligament Injury

C. Hernia

D. Tom Cartilage

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_4XnI323TftwC
https://dl.doubtnut.com/l/_ZEpXYi9cQFWe
https://dl.doubtnut.com/l/_W4fNmn5s8ZJT

49. Which of these is a common running injury?

A. Runners Knee

B. Shin Splint

C.Blister

D. All of these

Answer: D

o View Text Solution

50. Injuries to muscles are known as tears or

A. Sprain


https://dl.doubtnut.com/l/_W4fNmn5s8ZJT
https://dl.doubtnut.com/l/_xhtLJlIlnJZG

B. Strain

C. Breaks

D. Cracks

Answer: B

° View Text Solution

1. Choose the correct statement with respect to

Refraction of light


https://dl.doubtnut.com/l/_xhtLJlIlnJZG
https://dl.doubtnut.com/l/_SaopD8PJaXGT

A.The ray of light does not necessarily deviate

from its original path

B. The light ray bends away from the normal when

density of second medium is less than the first

medium

C.Speed of light decreases when it enters from

one optical rarer medium to another denser

medium due to decrease in wavelength of light

wave

D. All of the above

Answer: D



https://dl.doubtnut.com/l/_SaopD8PJaXGT

l o Watch Video Solution

2. When a light ray enters from one optical medium

to another and bends towards the normal then,

A.Angle of incidence is less than angle of

refraction

B. it is travelling from optically denser medium to

optically rarer medium

C. it is travelling from optically rarer medium to a

optically denser medium

D. Speed of light remains unchanged


https://dl.doubtnut.com/l/_SaopD8PJaXGT
https://dl.doubtnut.com/l/_gVpLGxOMP1SS

Answer: C

° Watch Video Solution

3. In the diagram below the lateral displacement is

given as:

Glass skab

AR

A.ray AB

B. ray BA


https://dl.doubtnut.com/l/_gVpLGxOMP1SS
https://dl.doubtnut.com/l/_IFfjnmAJgS9Y

C.segment AB

D. segment BA

Answer: D

o Watch Video Solution

4. |dentify the lens which exhibits the following

characterstics of image virtual, erect and diminished

A. Convex lens

B. Concave lens

C. Plano convex lens


https://dl.doubtnut.com/l/_IFfjnmAJgS9Y
https://dl.doubtnut.com/l/_g8CybsLOMYvy

D. Concavo convex lens

Answer: B

° Watch Video Solution

5. A coin is dropped in a glass through containing
benzene filled to a depth of 4cm. When viewed from
the outside it appears to be raised by 2cm. The
refractive index of benzene with respect to air is

calculated as:

A.dividing real depth by shift that is [4/2] = 2


https://dl.doubtnut.com/l/_g8CybsLOMYvy
https://dl.doubtnut.com/l/_MHtV90b9PVwX

B. First finding the apparent depth as real depth-
shift and then using the relation refractive
index is real depth upon apparent depth =
4/(4—2)] =2

C.Finding the real depth and then using the
relation refractive index is real depth/apparent
depth

D. None of the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MHtV90b9PVwX
https://dl.doubtnut.com/l/_XEJ6EAktQuZk

6. The diagram below shows a spherical lens in which
the image obtained is highly magnified and has a
power of 4.0 D. With reference to this answer the

following questions:
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The spherical lens used is :

A. convex

B. convexo concave


https://dl.doubtnut.com/l/_XEJ6EAktQuZk

C. concave

D. plano convex

Answer: A

o View Text Solution

7.The diagram below shows a spherical lens in which
the image obtained is highly magnified and has a
power of 4.0 D. With reference to this answer the

following questions:


https://dl.doubtnut.com/l/_XEJ6EAktQuZk
https://dl.doubtnut.com/l/_UUAU68h2SDah

+—— LENS

The focal length of lens is :

A. 100cm

B.25cm

C.0.25m

D. both 2 and 3

Answer: D



https://dl.doubtnut.com/l/_UUAU68h2SDah

\ ° Watch Video Solution

8. The diagram below shows a spherical lens in which
the image obtained is highly magnified and has a
power of 4.0 D. With reference to this answer the

following questions:
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The screen is placed at a distance of :


https://dl.doubtnut.com/l/_UUAU68h2SDah
https://dl.doubtnut.com/l/_eQu4cUxs43lr

A. 15cm

B. 20cm

C.12.5cm

D. data insufficient

Answer: D

° View Text Solution

9. The diagram below shows a spherical lens in which
the image obtained is highly magnified and has a
power of 4.0 D. With reference to this answer the

following questions:


https://dl.doubtnut.com/l/_eQu4cUxs43lr
https://dl.doubtnut.com/l/_XOOKYPsd8Eol

-

— LENS

If this lens is blackened at the lower half

A. The focal length would be halved

B. The focal length is doubled

C. The focal length remains unaffected

D. The focal length is 1 /4th

Answer: C



https://dl.doubtnut.com/l/_XOOKYPsd8Eol

o Watch Video Solution

10. What are the two forms of mechanical energy?

A. Elastic potential and vibrational kinetic

B. Gravitational potential and rotational kinetic

C. kinetic energy and potential energy

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XOOKYPsd8Eol
https://dl.doubtnut.com/l/_YAFKaQcAOb5x

11. One kilowatt hour is equal to

A.36 kJ

B.0.36 M)

C.3.6 M)

D. 0.36 K]

Answer: C

o Watch Video Solution

12. Ram and Shyam each of mass 45kg reach the

fourth floor of a building in time 4 sec and 5 sec


https://dl.doubtnut.com/l/_AX5M4wkd2ggf
https://dl.doubtnut.com/l/_CaTRFR8OAQI2

respectively. The ratio of their inertia is :

A4:5

B.5:4

C.1:1

D. Information is incomplete

Answer: C

o Watch Video Solution

13. Identify in which of the case it constitutes a

couple


https://dl.doubtnut.com/l/_CaTRFR8OAQI2
https://dl.doubtnut.com/l/_UhClysucj3ai

iy

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_UhClysucj3ai

14. The kinetic energy of body becomes one third
when

A. mass is same velocity is tripled

B. mass is doubled and velocity tripled

C. mass is 1/3™ while velocity is also 1 /3™

D. mass is tripled and velocity is 1/3’°d

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pZX4r0zF5dr2

15. The diagram shows a boy drawing water from a
well by means of bucket through a height of 15 m. If

the volume of bucket is 2 litre. [g = 10ng_1]

The mass of water lifted is

A. 20kg


https://dl.doubtnut.com/l/_wkJLuPips2Pr

B. 2kg

C.200g

D. 20g

Answer: B

o Watch Video Solution

16. The diagram shows a boy drawing water from a
well by means of bucket through a height of 15 m. If

the volume of bucket is 2 litre. [g = 10ng_1]


https://dl.doubtnut.com/l/_wkJLuPips2Pr
https://dl.doubtnut.com/l/_MoXcdSO0HYGl

The mechanical energy possessed by the bucket at

height of 7.5mis

A. potential energy

B. kinetic energy

C. translational kinetic energy


https://dl.doubtnut.com/l/_MoXcdSO0HYGl

D. gravitational potential energy

Answer: D

o View Text Solution

17. The diagram shows a boy drawing water from a
well by means of bucket through a height of 15 m. If

the volume of bucket is 2 litre. [g = 10ng_1]


https://dl.doubtnut.com/l/_MoXcdSO0HYGl
https://dl.doubtnut.com/l/_s2fD5jnlm909

The total energy when the empty bucket of mass

500g is falling freely under gravity at a height of 5m

from the surface of water is

A.150)

B.75])


https://dl.doubtnut.com/l/_s2fD5jnlm909

C.300]

D. 50)

Answer: B

o View Text Solution

18. The diagram shows a boy drawing water from a
well by means of bucket through a height of 15 m. If

the volume of bucket is 2 litre. [g = 10ng_1]


https://dl.doubtnut.com/l/_s2fD5jnlm909
https://dl.doubtnut.com/l/_0w5uX64r15GL

What is the mass of water collected by the boy after

20 rounds of the bucket been dropped inside the well

A. 2kg

B. 22kg

C. 40kg


https://dl.doubtnut.com/l/_0w5uX64r15GL

D. 220kg

Answer: C

° Watch Video Solution

19. The relationship to evaluate the efficiency is

A. Mechanical advantage/velocity ratio

B.load x displacement of load/effort

displacement of effort

C. work output/work input

D. All of the above


https://dl.doubtnut.com/l/_0w5uX64r15GL
https://dl.doubtnut.com/l/_359WsnGNEtSy

Answer:

° View Text Solution

20. State which of the following statements are true.

A. Mechanical advantage is always a unitless

quantity

B. Velocity ratio is also called displacement ratio

C. Efficiency is always less than one

D. both 1and 2

Answer: D



https://dl.doubtnut.com/l/_359WsnGNEtSy
https://dl.doubtnut.com/l/_pl88xiNvr7XO

l ®J Watch Video Solution

21.In case of cranes and hoist the velocity ratio is

A. number of movable pulleys
B. 2 number of pulleys
C. Total number of pulleys

D. displacement of load/displacement of effort

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_pl88xiNvr7XO
https://dl.doubtnut.com/l/_yE7qAhbdxKd2

22. A sprinter covers a distance of 27 while running

across joggers track of circumference 44 cm. Find the

work done by the sprinter if the distance travelled by

himis 1.76 x 10%km

A. zero |

B. 10)

C.100J

D. 1000J

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_x8ljXQC4fZID
https://dl.doubtnut.com/l/_52fbeaUgF5HC

23. If the wave velocity of sound in air is 336ms *

then the minimum distance for echo to occur is

A.17m

B. 18m

C.16.6m

D. 17.6m

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_52fbeaUgF5HC

24. Observe the figure and answer the questions

below.

Describe the type of motion possessed by Charlene

A. Acrobat

B. Free fall

C. Fall due to gravitational force

D. both 2 and 3

Answer: D



https://dl.doubtnut.com/l/_WKeD7dfHr062

l o Watch Video Solution

25. Observe the figure and answer the questions

below.

Which form of energy conserved in this case

A. mechanical energy

B. kinetic energy

C. gravitational potential energy

D. wind energy


https://dl.doubtnut.com/l/_WKeD7dfHr062
https://dl.doubtnut.com/l/_DnDQ11KVXMa2

Answer: A

° Watch Video Solution

26. Observe the figure and answer the questions

below.

How would you relate energy at the top to energy at

bottom

A. Potential energy is greater than kinetic energy


https://dl.doubtnut.com/l/_DnDQ11KVXMa2
https://dl.doubtnut.com/l/_B1348KnCCGYE

B. Potential energy is less than kinetic energy

C. Gravitational potential energy is equal to

kinetic energy

D. Wind energy is equal to kinetic energy

Answer: C

° Watch Video Solution

27. Observe the figure and answer the questions

below.


https://dl.doubtnut.com/l/_B1348KnCCGYE
https://dl.doubtnut.com/l/_8HLFb5K3th4O

Name the law which governs the above relation

A. Newton's law of gravitation

B. Law of conservation of mass

C. Law of conservation of mass

D. Law of conservation of mechanical energy

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8HLFb5K3th4O
https://dl.doubtnut.com/l/_6NnhmwulyJNr

28. Select the correct reason why diamond appears to

sparkle in the dark

A. It has a low critical angle of 24°

B. Due to the light getting entrapped inside the

diamond as a result of successive total internal

reflection

C. Due to refraction of light

D. both 1and 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6NnhmwulyJNr
https://dl.doubtnut.com/l/_NKk3TvVbxgg7

29. The energy transformation taking place in an

electric fan is

A. Mechanical energy to electrical energy

B. electrical energy to mechanical energy

C. Mechanical kinetic rotational energy to

electrical energy

D. Electrical energy to Mechanical kinetic

rotational energy

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NKk3TvVbxgg7
https://dl.doubtnut.com/l/_DjEDRpPUdehA

30. A girl sitting on a swing and a boy having the
same mass as the girl swings to the same height as
that of the girl as shown in the figure below. Which of

the statements are correct pertaining to the boy and

girl

A.The boy and girl posses same gravitational

potential energy at extreme


https://dl.doubtnut.com/l/_DjEDRpPUdehA

B. The boy and girl possess the same total energy

during its oscillation

C.Both1and 2

D. None of the above

Answer: C

° View Text Solution

31. A convex lens is used to burn a piece of paper as

shown in the figure. What is its focal length and


https://dl.doubtnut.com/l/_DjEDRpPUdehA
https://dl.doubtnut.com/l/_I0My42XWftsT

power?

k 4

¥

v
L ]

v ¥

Papar
16 cm

A. Focal length = 15cm and Power = 4-6.67D

B. Focal length greater than 15cm and Power =

6.67 D

C.Focal length less than 15cm and Power less

than 6.67 D

D. Focal length equal to 15cm and Power is more

than 6.67 D


https://dl.doubtnut.com/l/_I0My42XWftsT

Answer: A

° Watch Video Solution

32. The figure shows the deviation of a ray of light
when in minimum deviation position. Answer the

following questions:

Is the diagram correct?


https://dl.doubtnut.com/l/_I0My42XWftsT
https://dl.doubtnut.com/l/_oYqFIe0XoABg

A. Yes

B.No

C.Inlet ray angle must be equal to exit ray angle

D. none of these

Answer: A

° Watch Video Solution

33. The figure shows the deviation of a ray of light
when in minimum deviation position. Answer the

following questions:


https://dl.doubtnut.com/l/_oYqFIe0XoABg
https://dl.doubtnut.com/l/_u7By67KddDdl

The relation between angle of incidence and angle of

emergence is:

A.angle of incidence is greater than angle of

emergence

B. angle of emergence is greater than angle of

incidence


https://dl.doubtnut.com/l/_u7By67KddDdl

C.angle of incidence is equal to angle of

emergence

D. angle of incidence is alf the angle of emergence

Answer: C

o View Text Solution

34. The figure shows the deviation of a ray of light
when in minimum deviation position. Answer the

following questions:


https://dl.doubtnut.com/l/_u7By67KddDdl
https://dl.doubtnut.com/l/_qK5RVfV07uwr

The refracted ray is .......... To the base of the prism

A. parallel

B. equidistant

C. coplanar and non-intersecting

D. All of the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qK5RVfV07uwr

35. The figure shows the deviation of a ray of light
when in minimum deviation position. Answer the

following questions:

The measure of angular deviation for a particular
colour of light while passing through a glass prism is

called:

A. deviation


https://dl.doubtnut.com/l/_qK5RVfV07uwr
https://dl.doubtnut.com/l/_OfM421gjFZx3

B. refractibility

C. Refrangibility

D. Scattering

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_OfM421gjFZx3

